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g IDENTIFICATION
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; PRODUCT CODE: AC-8214B-MC
18 PRODUCT NAME: CVKAIBO DIS MOV/STRG INST TST
}1 PRODUCT DATE: JANUARY 1982
}% MAINTAINER: DIAGNOSTIC ENGINEERING
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21
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24 COPYRIGHT (C) 1977, 1982 8Y
25 DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASSACHUSETTS
26 ALL RIGHTS RESERVED

THIS SOFTWARE IS FURNISHED UNDER A LICENSE AND MAY
BE USED AND COPIE® ONLY IN ACCORDANCE WITH THE TERMS
OF SUCH LICENSE ANV WiTH THE INCLUSION OF THE ABOVE
COPYRIGHT NOTICE. TH'S SOFTWARE OR ANY OTHER COPIES
THEREOF MAY NOT BE PRUVIDED OR OTHERWISE MADE AVAIL-
ABLE TO ANY OTHER PERSON. NO TITLE TO AND OWNERSHIP
OF THE SOFTWARE IS HEREBY TRANSFERRED.

THE INFORMATION IN THIS SOFTWARE IS SUBJECT TO CHANGE
WITHOUT NOTICE AND SHOULD NOT BE CONSTRUED AS A COM-
MITTMENT BY DIGITAL EQUIPMENT CORPORATION.

DIGITAL ASSUMES NO RESPONSIBILITY FOR TJ{E USE OR
RELIABILITY OF ITS SOFTWARE ON EQUIPMENT THAT IS

42 NOT SUPPLIED BY DIGITAL.
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1.1

1.2

1.2.1

1.2.2

1.2.3

SEQ 0002

GENERAL INFORMATION

ABSTRACT

THIS DIAGNOSTIC VERIFIES THE OPERATION OF THE DISOL MOVE AND

STRINS INSTRUCTIONS OF THE LSI-11 (MOVC,MOVRC,CMPC,LOCC,SKP,

SCANC,SPANC]. THE PROGRAM CHECKS THAT EACH NSTRUCTION IS INTERRUPTABLE

USING THE CONSOLE SLU INTERFACE(SEE PARA 2.3.4) AND RUNS ALTERNATE

PASSES WITH THE TRACE TRAP ENABLED, UNLESS INHIBITED BY THE SWITCH REGISTER ( 2.
THE PROGRAM IS OESIGNED TO RUN ON AN LSI=11 WITH 4K OF MEMORY AND

THE DIS MICROMS, IT CAN BE RUN UNDER XXDP+,APT, AND ACT MONITORS.

THE SOFTWARE SWITCH REGISTER IS AT LOCATION 176.

TO FULLY TEST TME LSI1-11 DIBOL INSTRUCTION SET MICROMS, THE
FOLLOWING DJAGNOSTICS MUST BE RUN:

CVKAI*  [THIS DIAGNOSTIC]
CVKAJ* DIS DECIMAL INSTRUCTION TEST
CVKAB* LSI-11 EIS INSTRUCTION TEST

WHERE ''*'' IS THE LASTED REVISION

LSI-11(KD11=P) WITH A SERIAL LINE INTERFACE AND
4K OF MEMORY

STORAGE

THE PROGRAM USES MEMORY FROM 000000 TO 17310

PRELIMINARY PROGRAMS

IT IS ASSUMED THAT THE FOLLOWING DIAGNOSTICS HAVE BEEN RUN:

LSI-11 BASIC CPU TEST CVKAA®
LSI=-11 TRAPS TEST CVKAD®

WHERE ‘'¢*' 1S THE LASTED REVISION
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2.0 OPERATING INSTRUCTIONS

2.1 LOADING PROCEDURES

CAN BE LOADED UNDER XXDP+ OR
USE STANDARD PROCEDURE FOR PDP-11 ABSOLUTE BINARY FORMATTED TAPES

2.2 STARTING PROCEDURE

LOAD THE SWITCH REGISTER WITH THE DESIRED SETTING
(SOFTWARE SWITCH REGISTER LOCATION = 176)

THE PROGRAM SHOULD ALWAYS BE STARTED AT 200.

STARTING AT 200, THF PROGRAM CLEARS ALL PROGRAM PARAMETERS AND
THEN PRINTS ITS MAINDEC IDENTIFICATION. 'END PASS'' IS PRINTED
AT THE END OF EACH FULL PASS OF THE DIAGNOSTIC.

2.3 OPERATING PROCEDURES

NN NN AU NO NI NN NONIPU N b b b b b b D = b 2 O

(VICP ¥ ¥ ¥ P ¥ B P B P v v vy

2.3.1 OPERATIONAL SWITCH REGISTER

LOCATION 176 1S USED FOP THE SOFTWARE SWITCH REGISTER AND
THE FOLLOWING OPTIONS MAY BE SELECTED BY INSERTING A 1 IN THEIR
RESPECTIVE BIT POSITIONS.

BIT15 = HALT ON ERROR

BIT14 - SCOPE LOOP

BIT13 = INHIBIT ERROR TYPEOUT

8IT12 = INH'RIT TRACE TRAP

BITI = UNUSED

BIT10 = UNUSED

BITO9 - LOOP ON ERROR

81708 - LOOP ON TEST IN SWR<05:00>
8IT07 -~ INHIBIT INTERRUPTABILITY TESTS

NOTE: Q%EHTVPEOUTS CAN B8E SUPPRESSED BY MAKING BITS OF BYTE SENVM

—.-.dddd—‘d-.—.dd-‘—._‘—l—.—.—.-‘—l—.—.d—.-‘—.—‘d—‘—.—.-‘—._.—.—.-‘—‘—l—l—l—‘
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2.3.2

2.3.3

2.3.4

RUNNING UNDER APT
THE APT MAJLBOX-ETABLE IS LOCATED AT LOCATION 566.

USING THE CONSOLE INTERFACE AS THE INTERRUPTING DEVICE,

THE INTERRUPTABILTIY TESTS WILL BE RUN ON ONLY THE FIRST PASS TO

AVOID INTERFERENCE WITH THE APT INTERFACE. IF INTERRUPTABILITY

TESTS ARE DESIRED ON ALL PASSES, ANOTHER SLU MUST BE SUPPLIED

AND ITS RECEIVER STATUS REGISTER APDRESS & ITS INTERRUPT VECTOR MUST

BE PLACED IN THE APT E-TABLE AT LOCATIONS '‘SBASE'’ & "SVECT1'' RESPECTIVELY.

RUN WITH ALTERNATE CONSOLE ADDRESS

TO USE A CONSOLE ADDRESS OTHER THAN 177560. THE OPERATOR
MUST SUPPLY THE PROGRAM WITH THE CORRECT ADDRESSES BY INSERTING THEM
AT THE LOCATIONS LABELED:

$TKS:  RCSR ADDRESS
$TKB:  RBUF ADDRESS
$TPS:  TCSR ADDRESS
$TPB:  TBUF ADDRESS

RUN INTCRRUPT TESTS WITH ALTERNATE SLU

TO USE A SERIAL LINE INTERFACE ADDRESS OTHER THAN THE STANDARD
CONSOLE ADDRESS (177560), THE OPERATOR MUST SUPPLY THE CORRECT ADDRESS
AND INTERRUPT VECTOR BY INSERTING THEM IN THE LOCATIONS LABELED:

$BASE: *RCSR ADDRESS*
$VECT1: «RECEIVER INTERRUPT VECTOR*

SEQ 0004
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SEQ 0005

EXECUTION TIMES

THE GIVEN EXECUTION TIMES TAKE INTO ACCOUNT THE RANDOM CHARACTERISTIC

OF THE INTERRUPT TESTS. THE EXECUTION TIME OF THE FIRST PASS IS APPROXIMATELY
10 SECONDS; BUT SUBSEQUENT PASSES WITH INTERRUPT TESTS ENABLED COULD

TAKE AS LONG AS 32 SECONDS. THEREFORE THE 32 SECOND EXECUTION TIME IS USED.
THE PASS TIME WITHOUT INTERRUPTS IS APPROXIMATELY 2 SECONDS.

ERROR REPORTING

IF A ROUTINE FAILS AND THE INHIBIT ERROR TYPEOUT (BIT13) OF THE SWR
IS NOT SET, THE PC OF THE ERROR IS PRINTED. THE OPERATOR CAN FIND
THE ERROR REPORT IN THE COMMENT FIELD OF THAT PC LOCATION IN

THE PROGRAM LISTING. IF HALT ON ERROR (BIT15) OF THE SWR IS SET
L:EH?ngga? WILL HALT AFTER PRINTING THE ERROR PC AND ENTER THE

E.G. XXXXXX <-=-PC OF THE ERROR
XXXXXX <=-PC+2 OF THE HALT ON ERROR LOCATION
C) <==0DT ENTERED

WHERE ‘"XXXXXX'' IS AN OCTAL VALUE

SUBROUTINE ABSTRACTS

TRAPCATCHER

A *'.+2 = HALT"' SEQUENCE IS REPEATED FROM 0-776 TO CATCh ALL UNEXPECTED
TRAPS. THUS ALL UNEXPECTED TRAPS OR INTERRUPTS WILL HALT

AT THE VECTOR+2, EXCEPT TRAPS TO LOCATION 0.4, & 10 WHICH GO TO

THEIR RESPECTIVE REPORTING ROUTINES ‘TZERQ™.'‘TIMTRP'*, & ‘‘ILLTRP".

THE OTHER EXCEPTION IS LOCATION 100 (RTC INTERRUPT VECTOR)

WHICH CONTAINS A .42 = RTI'* SEQUENCE (RETURNS FROM THE INTERRUPT).

SCOPE

THIS ROUTINE CALL IS PLACED BETWEEN EACH SUBTEST. IT RECORDS TME

STARTING ADDRESS OF EACH SUBTEST AS IT IS BEING ENTERED & UPDATES
THE TEST NUMBER. IF A SCOPE LOOP IS REQUESTED IT WILL JUMP

TO THE START OF THE SUBTEST AT WHICH THE SCOPE LOOP IS REQUESTED.
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gz% 4.3 ERROR
244 THIS ROUTINE CALL IS PLACED WHEREEVER AN ERROR REPORT IS DESIRED. THE
265 LOWER BYTE OF THIS CALL IS USED AS THE ERROR NUMBER. THIS ROUTINE
2646 - REPORTS ERRORS TO APT, TYPES ERRORS TO THE CONSOLE USING THE
%2; ~ STYPE'' £ ''TYPOCT'' ROUTINES, AND HANDLES ERROR RESPONSES VIA SWR SETTINGS.
249
250 4.4 $POWER

M T awmee=

THIS ROUTINE SAVES ALL GENERAL REGISTERS DURING POWER-DOWN AND
RESTORES THEM AT POWER-UP. IF A POWER FAILURE OCCURS 'POWER'’ IS
PRINTED AT THE CONSOLE AFTER POWER IS RESTORED AND THE PROGRAM
IS RESTARTED AT TEST# 1.

AIRIAI PO N
DA a I ALY IV Ly
00 ~NO N il

25y

%g? 4.5 NPREP

262 THIS ROUTINE IS USED TO STORE A COPY OF THE INSTRUCTION TEST
%gz ARGUMENTS TO BE STORED IN RO-=->RS5.

265

ggg 4.6 GENR

268 THIS ROUTINE IS USED TO TRANSFER INSTRUCTION TEST ARGUMENTS
269 TO THE GENERAL REGISTERS AND TO COPY THE STACK POINTER BEFORE THE
5;? TEST INSTRUCTION EXECUTION.

272

3;2 4.7 XPSW

275 THIS ROUTINE IS USED TO STORED THE EXPECTED PSW OF THE INSTRUCTION
276 TEST AND TO SET THE T-BIT IN THE EXPECTED PSW ON PASSES USING
77 THE TRACE TRAP.

2’8

279

3%? 4.8 INTR

282 THIS ROUTINE 1S USED TO DETECT WHEN THE TEST INSTRUCTION HAS
283 BEEN INTERRUPTED AND TO CONTINUE THE INTERRUPT STREAM (NTIL THE
ggg INSTRUCTION IS INTERRUPTED.

ggg 4.9 o (W

288 THIS ROUTINE 1S USED TO CHECK THE PSw'S CONTENT, AFTER THE

289 OPERATJON, WITH THE EXPECTED PSW'S CONTENT (EXPPSW).

290 «*NOTE: CONDITION CODES GENERATED IN THIS ROUTINE WILL BE USED
291 IN THE MAIN PROGRAM. NO CODES SHOULD BE ADDED IN THIS
gg% ROUTINE THAT WOULD AFFECT THE CONDITIONS CODES.

294

295 $.10 SKPINT

296 ......

297 THIS ROUTINE IS USED TO CKECK IF WE SHOULD SKIP THE CURRENT TEST.
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LOC. -BEHP- IS USED AS A FLAG THAT PASSES BACK TO THE MAIN PROGRAM.

TEMP
TEMP

==> (ONTINUE WITH THE CURRENT TEST
1 ==> GO TO DO THE NEXT TEST

MISCELLANEOUS

STACK POINTER
STACK POINTER IS INITIALLY SET TO 500 (OCTAL).

PASS COUNT

A 16 BIT LOCATION °‘‘SPASS'' IS USED TO KEEP THE PASS COUNT. IT IS
CLEARED BY STARTING AT 200.

TEST NUMBER
A 16 BIT LOCATION *'STSTNM'' 1S USED TO KEEP 5ACK OF THE SUBTEST

NUMBER. THIS NUMBER IS ALSO PLACED IN THE APT E-TABLE AT 'STESTN''
WHEN UNDER APT.

POWER FAIL

THE DIAGNOSTIC CAN BE POWER FAILED WITH NO ERRORS. AFTER POWERING
DOWN AND THEN UP AGAIN, THE PROGRAM WILL RESTAR FROM TEST# 1

(1.E., RESTARTS THE PASS THAT WAS INTERRUPTED) AFTER TYPING ‘'POWER™’
TO THE CONSOLE. HOWEVER IF THE PROGRAM IS STORED IN MOS MEMORY
THAT CAN NOT HOLD DATA WITH POWER DOWN, THEN THE PROGRAM WILL NOT
RECOVER FROM A POWER FAIL.

EVENT INTERRUPTS

THIS DIAGNOSTIC CAN BE RUN WITH THE REAL TIME CLOCK ACTIVE
(INTERRUPT = 100). LOCATION 100 POINTS TO LOCATION 102

WHICH CONTAINS AN ‘RTI'® INSTRUCTION. THUS ON CLOCK INTERRUPTS,
AN RTI IS EXECUTED TO HANDLED IT.

ABS

ME
MC.MD,CND

SEQ 0007
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.SBTTL BASIC DEFINITIONS

386 ;*INITIAL ADDRESS OF THE STACK POINTER xax 1100 ==+
387 001100 STACK= 1100

388 .EQUIV EMT,ERROR ;:BASIC DEFINITION OF ERROR CALL
389 .EQUIV 10T,SCOPE :sBASIC DEFINITION OF SCOPE CALL

391 :*MISCELLANEOUS DEFINITIONS
392 000011 HT= 11 :sCODE FOR HORIZONTAL TAB

393 000012 LF= 12 ::CODE FOR LINE FEED

394 000015 CR= 15 :3CODE FOR CARRIAGE RETURN

395 000200 CRLF= 200 ::CODE FOR CARRIAGE RETURN-LINE FEED
396 177776 PS= 177776 : sPROCESSOR STATUS WORD

397 .EQUIV PS,PSW

398 177774 STKLMT= 177774 ::STACK LIMIT REGISTER

399 177772 PIRG= 177772 : :PROGRAM INTERRUPT REQUEST REGISTER
400 177570 DSWR= 177570 : HARDWARE SWITCH REGISTER

401 177570 DDISP= 177570 : HARDWARE DISPLAY REGISTER

403 :*GENERAL PURPOSE REGISTER DEFINITIONS

404 000000 RO= 20 : sGENERAL REGISTER
405 000001 R1= 21 s sGENERAL REGISTER
406 000002 R2= ¥4 : ;GENERAL REGISTER
407 000003 R3= x3 : sGENERAL REGISTER
408 000004 Ré4= 24 s sGENERAL REGISTER
09 000005 RS= x5 ; ;GENERAL REGISTER
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BASIC DEFINITIONS

Ré= X6 : :GENERAL REGISTER
R7= X7 : :GENERAL REGISTER
SP= X6 ::STACK POINTER
PC= X7 : :PROGRAM COUNTER
:*PRIORITY LEVEL DEFINITIONS

PRO= 0 ::PRIORITY LEVEL O
PR1= 40 ::PRIORITY LEVEL 1
PR?2= 100 ::PRIORITY LEVEL 2
PR3= 140 ::PRIORITY LEVEL 3
PR&4= 200 ::PRIORITY LEVEL &
PRS= 240 ::PRIORITY LEVEL 5
PR6= 300 ::PRIORITY LEVEL 6
PR7= 340 ::PRIORITY LEVEL 7
;%' 'SWITCH REGISTER'' SWITCH DEFINITIONS
Sw15= 100000

Swié= 40000

Sw13= 20000

swi2= 10000

Swil= 4000

SWw10= 2000

SWw09= 1000

Sw08= 400

Sw07= 200

SW06= 100

SW05= 40

SWoé= 20

swo3= 10

SW02= &

SW0l= 2

SWoo= 1

LEQUIV SW09,SW9

LEQUIV SW08,SW8

LEQUIV SW07,Sw?7

LEQUIV SW06,SW6

LEQUIV SW0S,SWS

EQUIV SW04,SWé

LEQUIV SW03,SW3

EQUIV SW02,Sw?

.EQUIV SW01,SwWi

LEQUIV SW00,Sw0

:*DATA BIT DEFINITIONS (BITOO TO BIT15)
8I1T15= 100000

BIT14= 40000

8I1T13= 20000

BI1T12= 10000

BIT11= 4000

8IT10= 2000

BI1709= 1000

81708= 400

BIT07= 200

BI1T06= 100

B1705= 40

BIT04= 20

SEQ 0009
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1

BASIC DEFINITIONS

::TIME OUT AND OTHER ERRORS

: {RESERVED AND ILLEGAL INSTRUCTIONS
::TRACE TRAP

: :BREAKPOINT TRAP (BPT)

21 INPUT/OUTPUT TRAP (I0T) w*SCOPE+#
::POWER FAIL

::EMULATOR TRAP (EMT) #+ERRORw#
::"TRAP'' TRAP

:3TTY KEYBOARD VECTOR

::TTY PRINTER VECTOR

: :PROGRAM INTERRUPT REQUEST VECTOR

200

100
040

8IT03= 10
BIT0?2= 4
BITO1= 2
8IT00= 1
.EQUIY B8I1T09,81T79
LEQUIV B8IT08,BIT8
.EQuUlv B]T07,8117
LEQUlv B8IT06,BIT6
.EQulv BIT0S5,BITS
LEQUIV BIT04,BIT4
LEQUIV BIT03,BIT3
LEQUIV BIT02,BIT?2
JEQUIV B81701,8IT1
.EQUIV BIT00,BITO
:*BASIC ''CPU'' TRAP VECTOR ADDRESSES
ERRVEC= &
RESVEC= 10
TBITVEC=14
TRTVEC= 14
BPTVEC= 14
JOTVEC= 20
PWRVEC= 24
EMTVEC= 30
TRAPVE(C=34
TKVEC= 60
TPVEC= o4
PIRQVEC=240
APTSIZE=
APTENV= 001
APTSPOOL=
APTCSUP=
$SWR= 171400
$SWRMK= 300
181T= 20
$TN= 1
N= 1
NXM= 1727777
ABASE= 177560
AVECT1= 60
.SBTTL TRAP CATCHER

.=0
s*ALL UNUSED LOCATIONS FROM 4 - 776 CONTAIN A *'.+2 HALT"
s*SEQUENCE TO CATCH ILLEGAL TRAPS AND INTERRUPTS
:*LOCATION g‘CONTAlNS 0 TO CATCH IMPROPERLY LOADED VECTORS

DISPREG:
SWREG:

“WORD 0
"WORD O
-n

, 7ERO

340
TIMTRP

;;SOFTWARE DISPLAY REGISTER
;s SOFTWARE SWITCH REGISTER

sSET LOCATIONS 0,4,6 TO ERROR REPORT

SEQ 0010
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000340
014164
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TRAP CATCHER SEQ 0011
340
ILLTRP
340
.=100
'WORD 102 :HANDLE EVENT LINE INTERRUPTS
"WORD 2
.=200
000512 JMP S ART ;STARTING ADDRESS OF PROGRAM
.=400
.SBTTL ACT11 HOOKS
**t*.’ttt*tQ*tii.**ﬁ*t'itiiﬁt'ﬁt'ﬁﬁttﬁitﬁiti*ﬁ.ﬁ..ﬁittﬁf'ﬁ'ﬁ*'ﬁ'
*f100KS REQUIRED BY ACT11
$SYPL=. :SAVE PC
ssgng ::1)SET LOC.46 TO ADDRESS OF SENDAD IN .SEOP
"WORD 0 ::2)SET LOC, 52 TO ZERO
~=$SVPC *“RESTORE P
.SBTT_ APT PARAMETER BLOCK
s 2 2222233223223 2321223322332283212333333332333333383:333 2333233333343/
“SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT
: .’ttttttt*tﬁ'ttﬁtl’t*titt't'i.*ttﬁttﬁﬁﬁtﬁﬁ.lﬁﬁﬁﬁt*tﬁﬁﬁﬁ"*t‘*ﬁ*.ﬁ.
$X=. ;:SAVE CURRENT LOCATION
"224"  :ISET POWER FAIL TO POINT TO START OF PROGRAM
500 *'FOR APT START UP
=44  :*POINT TO APT INDIRECT ADDRESS PNIR.
$APTHDR ::-POINT TO APT HEADER BLOCK
.=.8X  ::RESET LOCATION COUNTER
*t*tt*t'ﬁt*ﬁﬁt*ttttﬁ*tttt*t**t**ﬁtiﬁti*t*.'*ttt'ititiii.‘lttitit
“SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT-PDP11 DIAGNOSTIC
*INTERFACE SPEC.
SAPTHD :
$HIBTS: .WORD 0 :TWO HIGH BITS OF 18 BIT MAILBOX ADDR.
SMBADR: .WORD  SMAIL ..ADDRESS OF APT MAILBOX (RITS 0-15)
STSTM: .WORD 30 ‘RUN TIM OF LONGEST TEST
SPASTM: _WORD 40 ..RUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)
SUNITM: .WORD ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT
"WORD  SETEND-SMAIL/2 ;:LENGTH MAILBOX~ETABLE (WORDS)
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COMMON TAGS
.SBTTL COMMON TAGS

:;ttttﬁiﬁtﬁttlittﬁtttttt'tt*itﬁtttttttitttttii*it*t*tttttt.tttiit

TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
IN THE PROGRAM.

;*THIS
s *USED

SCMTAG.

$TSTNM:
$ERFLG:

$ICNT:

$LPADR:
$LPERR:

$ERTIL:

$ITEMB:
SERMAX:

$ERRPC(:
$GDADR:
$BDADR:

$GDDAT:
$8DDAT: .

SAUTOB:

$SINTAG:

SWR:

.=500

-WORD
.BYTE
.BYTE
.WOPD
-WORD
.WORD
.WORD
.BYTE
.BYTE

DISPLAY: .WORD

$TKS:
$TKB:
$TPS:
$1P8:
$NULL :
SFILLS
$FILLC

$TPFLG:
$SESCAPE:

$QUES:
$CRLF:
$LF:

177560
177562
177564
177566
.BYTE
.BYTE
.BYTE
.BYTE

LASCII
ASCII
.ASCIZ

o

OO0OOOOOOOO—-0O00000000

2

O=NO

/?/
<15>
<1

2 :START OF

s s CONTAINS
s s CONTAINS
s sCONTAINS
s s CONTAINS
s s CONTAINS
s s CONTAINS
s s CONTAINS
s s CONTAINS
s s CONTAINS
¢ : CONTAINS
s s CONTAINS
s s CONTAINS
: ; CONTAINS

COMMON TAGS

THE TEST NUMBER

ERROR FLAG

SUBTEST ITERATION COUNT
SCOPE LOOP ADDRESS
SCOPE RETURN FOR ERRORS
TOTAL ERRORS DETECTED
ITEM CONTROL BYTE

MAX. ERRORS PER TEST

PC OF LAST ERROR INSTRUCTION
ADDRESS OF °*GOOD' DATA
ADDRESS OF °*BAD' DATA
‘GO0D* DATA

‘BAD' DATA

s SRESERVED=--NOT TO BE USED

2sAUTOMATIC MODE INDICATOR
22 INTERRUPT MODE INDICATOR

2 ;ADDRESS OF SWITCH REGISTER
:cADDRESS OF DISPLAY REGISTER

csTTY KBD STATUS

::TTY KBD BUFFER

$:TTY PRINTER STATUS REG. ADDRESS
2:TTY PRINTER BUFFER REG. ADDRESS
;sCONTAINS NULL CHARACTER FOR FILLS

s s CONTAINS

# OF FILLER CHARACTERS REQUIRED

::INSERT FILL CHARS. AFTER A 'LINE_FEED’
33 'TERMINAL AVAILABLE'' FLAG (BIT<07>=0=YES)
:ESCAPE ON ERROR ADDRESS

::QUESTION MARK

2 : CARRIAGE

ssLINE FEED

RETURN

s s AR A RRANRNANAARRNAAR A AR ERARANARNARARAAARNRNAANACEACEARARNRARAES

"SBITL APT MAILBOX-ETABLE

::tttttttttttttttttttlttttit.tttttttttﬁttttttttttttttttttt*tttttt

$MSGLG

Y: .WORD

: JWORD
: WORD

.WORD

T: .WORD

.WORD

D: .WORD

.WORD

$SETABLE:

AMSGTY
AFATAL
ATESTN
APASS

ADEVCT
AUNIT

AMSGAD
AMSGLG

:sAPT MAILBOX

s sMESSAGE TYPE CODE

s sFATAL ERROR NUMBER

2 TEST NUMBER

s :PASS COUNT

;:DEVI £ COUNT

22170 UNIT NUMBER

s sMESSAGE ADDRESS

s sMESSAGE LENGTH

:sAPT ENVIRONMENT TABLE

SEQ 0012
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627 000606 000 SENV: .BYTE AENV  ;;ENVIRONMENT BYTE
628 000607 000 SENVM: .BYTE AENVM  :;ENVIRONMENT MODE B1TS
629 000610 000000 $SWREG: .WORD ASWREG ::;APT SWITCH REGISTER
630 000612 000000 SUSWR: .WORD AUSWR  :;USER SWITCHES
631 000614 000000 $CPUOP: .WORD ACPUOP ::CPU TYPE,OPTIONS
632 S BiTs 15-11=CPU TYPE
633 s 11/04=01,11/05=02,11/20=03,11/40=04,11/45=05
634 i 11/70=06.PDQ=07,0=10
635 i BIT 10=REAL TIME CLOCK
636 i BIT 9=FLOATING POINT PROCESSOR
637 3 BIT 8=MEMORY MANAGEMENT
638 000616 000 §MAMS1: .BYTE AMAM'1 :;HIGH ADDRESS,M.S. BYTE
639 000617 000 SMTYP1: .BYTE AMTYr1 ::MEM, TYPE,BLKA
640 o* MEM.TYPE BYTE == (MIGH BYTE)
641 * 900 NSEC CORE=001
642 * 300 NSEC BIPOLAR=002
643 w 500 NSEC M0S=003
644 000620 000000 $MADR1: .WORD  AMADR1 ;;MIGH ADDRESS,BLKA1
645 % MEM.LAST ADDR.=3 BYTES,THIS WORD AND LOW OF ‘‘TYPE'' ABOVE
646 000622 000 §MAMS2: .BYTE  AMAMS2 ;;HIGH ADDRESS,M.S. BYTE
647 000623 000 SMTYP2: .BYTE  AMTYP2 ::MEM.TYPE ,BLKA?2
648 000624 000000 SMADRZ: .WORD AHADR% : MEM.LAST ADDRESS,BLKAN2
649 000626 000 SMAMS3: .BYTE  AMAMSS ::MIGH ADDRESS.M.S.BYTE
650 000627 000 SMTYP3: .BYTE  AMTYP3 ::MEM,TYPE,BLKA3
651 000630 000000 SMADR3: .WORD  AMADR3 ;:MEM,LAST ADDRESS.BLK#3
652 000632 000 SMAMSL: .BYTE  AMAMSL ;:HIGH ADDRESS,M.S.BYTE
653 000633 000 SMTYP4: .BYTE  AMTYP4 ;:MEM.TYPE,BLKAG
654 00064 000000 SMADRG: .WORD  AMADRG ;;MEM.LAST ADDRESS,BLKA4
655 000636 000060 SVECT1: .WORD AVECT1 ::INTERRUPT VECTORAN1,BUS PRIORITYA1
656 000640 000000 $VECT2: .WORD AVECT2 ::INTERRUPT VECTOR#28US PRIORITYA2
ggg 88822% 177560 g??ESB .WORD ABASE ;:BASE ADDRESS OF EQUIPMENT UNDER TEST

659 JMEXIT
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CVKAIB.P1 22-JAN-82 08:43 ERROR POJNTER TABLE SEQ 0014

229 .SBTTL ERROR POINTER TABLE

662 :#THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.

663 “#THE INFORMATION IS OBTAINED BY USING THE INDEX NUMBER FOUND IN

664 ‘«LOCATION SITEMB. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT.
665 S «NOTE1: IF SITEMB IS O THE ONLY PERTINENT DATA IS (SERRPC).

ggg *«NOTE2: EACH ITEM IN THE TABLE CONTAINS & POINTERS EXPLAINED AS FOLLOWS:
668 e EM ; :POINTS TO THE ERROR MESSAGE

669 ;e DH *:POINTS TO THE DATA HEADER

670 o ¥ DT :POINTS TO THE DATA

g;g * DF S SPOINTS TO THE DATA FORMAT

673

g;g 000644 $ERRTB:

676 000644 000000 SRCLN: .WORD O ;SOURCE LENGTH

677 000646 000000 SRCAD: .WORD :SOURCE ADDRESS

678 000650 000000 DSTLN: .WORD *DESTINATION LENGTH

679 000652 000000 DSTAD: .WORD *DESTINATION ADDRESS

680 000654 000000 FILL: .WORD *FILL CHARACTER

681 000656 177777 TABLE: .WORD 177777 “TRANSLATION TABLE ADDRESS

682 000660 177564 TCSR: 177564 *TCSR ADDRESS OF SLU USED FOR INTERRUPTS

683 000662 177566 TBUF: 177566 *TBUF ADDRESS

684 000664 000064 TVECT: 64 :TRANSMIT INTERRUPT VECTOR

685 000066 TPSW: 66 : AND PSW LOCATION

686 000670 000000 PCl: 0 :ADDRESS OF TEST INSTRUCTION TO INTERRUPT

687 000672 000000 CCODES SCONDITION CODES AFTER TEST INSTRUCTION EXECUTION
688 000674 000000 EXPPSW: 0 <EXPECTED CONDITION CODES

689 000676 000000 SAVR6: 0 :STACK POINTER VALUE BEFORE TEST INSTRUCTION EXECUTION
650 000700 000000 BADRG: 0 *BAD STACK POINTER VALUE

691 000702 000000 OLDPC: 0 ‘PC WHERE UNEXPECTED TRAP OR INTERRUPT OCCURRED
692 000704 000000 TEMP: 0

693 000706 000000 TEMPI: O

ggg 000710 000000 TEMP2: 0

0% 000712 177777 ONES: .WORD =1

ggg 000714 000377 ONEBYT: 377

699

700 000716 005067 177646 START: CLR SFATAL :CLEAR ERROR NO.

701 000722 005067 177640 CLR $SMSGTYP *CLEAR MESSAGE TYPE

702 000726 005067 177640 CLR STESTN *CLEAR TEST NO.

703 .SBTTL INITIALIZE THE COMMON TAGS

704 :CLEAR THE COMMON TAGS (SCMTAG) AREA

705 000732 012706 000500 MOV #SCMTAG.R6 SFIRST LOCATION TO BE CLEARED

706 000736 005026 CLR (R6) + SCLEAR MEMORY LOCATION

707 000740 022706 000540 CMP #SWR,R6 ;DONE?

708 000744 001374 BNE .=6 :LOOP BACK IF NO

709 000746 012706 000500 MOV #500,SP SSETUP THE STACK POINTER

710 YINITIALIZE A FEW VECTORS

711 000752 012737 014542 000020 MOV #$SCOPE ,a# IOTVEC ; IOT v;cron FOR SCOPE ROUTINE

712 000760 012737 000340 000022 MOV #340,a#T10TVEC+2 ;LEVEL

713 000766 012737 015140 000930 MOV #SERROR , SFEMTVEC ;EMT VECTOR FOR ERROR ROUTINE

214 000774 012737 000340 000032 MOV #340,a0EMTVEC+2 :LEVEL

715 001002 012737 016236 000034 MOV NSTRAP,3# TRAPVEC :TRAP VECTOR FOR TRAP CALLS
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716 001010 012737 000349 000036 MOV #340, a#TRAPVEC+2;:LEVEL 7

717 001016 015737 016740 000024 MOV #SPWRDN, 3#PWRVEC ;POWER FAILURE VECTOR

718 001026 012737 000340 000026 MOV #3460, 34PURVEC+d :LEVEL 7

719 001032 016767 01;754 012744 MOV SENDCT,SEOPCT  :SETUP END=-OF-PROGRAM COUNTER

720 001040 005067 177514 CLR $ESCAPE SCLEAR THE ESCAPE ON ERROR ADDRESS

721 001046 112767 000001 177443 MOVEB  #1,SERMAX ALLOW ONE ERROR PER TEST

722 :INITIALIZE THE "T-BIT™ TRAP VECTOR. THEN LOAD LOCATION
723 STHE 'END-OF-PASS'’ (SEOP) ROUTINE, WITH A 'RTI'* OR ‘RTT
724 001052 012737 014116 000014 MOV #SRTAN,S#TBITVEC :SET ''T'* BIT VECTOR TO SRTRN

725 001060 0312737 000340 000016 MOV #340,#TBITVEC+2 :LEVEL 7

726 001066 012767 000002 013020 MOV #RTI,SRTRN :SET SRTRN TO A RTI

727 001074 013767 000010 177602 MOV SNRESVEC,TEMP  :SAVE ILLEGAL INSTRUCTION TRAP VECTOR
728 001102 012737 001130 000010 MOV #2S ,QMRESVEC  :TRY TO DO A RTT

729 001110 005046 CLR -(SP) SDUMMY PS

730 001112 012746 001120 MOV #1$,=(SP) “AND PC

731 001116 000006 RTT STRY THE RTT

732 001120 012767 000006 012766 18: MOV #RTT,SRTRN SRTT IS LEGAL=-=SET SRTRN TO A RTT

733 001126 000402 BR 38

73, 001130 062706 000010 28: ADD #10,5P ;RTT ILLEGAL==CLEAN OFF THE STACK

735 001134 016737 177544 000010 3$: MOV TEMP,B#RESVEC  -RESTORE ILLEGAL INSTRUCTION TRAP VECTOR
736 001142 005067 012754 CLR $T8IT SCLEAR "'T'* BIT SWITCH

737 001146 012767 001146 177332 MOV #..$LPADR “INITIALIZE THE LOOP ADDRESS FOR SCOPE
738 001154 012767 001154 177326 MOV #..SLPERR *SETUP THE ERROR LOOP ADDRESS

739 ‘SETUP FOR A SOFTWARE SWITCH REGISTER.
740 001162 012767 000176 177350 MOV #SWREG, SWR *POINT TO SOFTWARE SWR

;23 001170 012767 000174 177344 MOV #D1SPREG,DISPLAY

743 001176 005067 177372 CLR $PASS ;CLEAR PASS COUNT

744 001202 132767 000200 177377 BITB  WAPTSIZE.SENVM ;TEST USER SIZE UNDER APT

745 001210 001403 BEQ S SYES,USE NON=APT SWITCH

;29 881555 012767 000610 177320 s MOV ASSWREG, SWR *NO,USE APT SWITCH REGISTER

748 001220 026737 012624 000042 P SENDAD , 3442 ;UNDER ACT11 AUTO-ACCEPT?

749 001226 001424 BEQ PATGEN *BR IF YES, & SKIP PROGRAM ID TYPEOUT
750 001230 104401 016276 TYPE,  NAME

751 :SET UP ADDRESSES OF SLU TO USE FOR INTERRUPTABILITY TES
752 001234 013700 000642 MOV aNSBASE ,RO *GET ADDRESS OF THE SLU

753 001240 062700 000004 ADD 44 R0 *ADJUST TO TCSR ADDRESS

754 001244 010037 000660 MOV RO a#TCSR SSTORE TCSR ADDRESS

755 001250 005720 TST (RO)+ SADJUST TO TBUF ADDRESS

756 001252 010037 000662 MOV RO, a#TBUF *STORE TBUF ADDRESS

757 001256 013700 000636 MOV ar$VECT1.RO *GET SLU INTERRUPT VECTOR

758 001262 062709 000004 ADD ¥4 ,R0 *ADJUST TO TRANSMIT INTERRUPT VECTOR

759 001266 010037 000664 MOV RO SFTVECT *STORE TRANSMIT INTERRUPT VECTOR

760 001272 005720 ST (RO + *ADJUST TO TRANSMIT INTERRUPT PSW

761 001276 010037 000666 MOV RO, NTPSW *STORE TRANSMIT INTERRUPT PSW LOCATION
762 001300 012701 016310 PATGEN: MOV #80F1,R1 *GENERATE TEST PATTERN IN BUF1

763 001304 012700 000001 MOV #1,R0 ‘" THE PATTERN IA A BINARY COUNT ALTERNATED
764 001310 110021 18: MOVB  RO.(R1)+ s WITH ITS conPL;nsnr

765 001312 105100 CoM8 RO ;  001,376,002,375,003,374,..... ,177.200,200,177
766 001314 110021 MOVB RO, (R1)+

767 001316 105100 coM8 RO

768 001320 105200 INCB RO : INCREMENT PATTERN

769 001322 020027 000200 CMP RO,#200 *1S PATTERN FINISHED?

770 001326 003770 8LE 1$ ‘BR IF NOT
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;;% 001330 106427 000200
774
775
776
777
778
779
780
781
782 001334 000004
783 001336 004567 012706
784 001342
785 001344 177777
786 001346
787 001350 016711
788 001352 000377
789 001354 004767 012716
790 001360 004567 012760
791 001364 000211
792 001366 004767 012612
793 001372 000251
;32 001374 2
;39 001376 076030
798 001400 004767 012766
799 001404 001401
800 001406 104001
801
802
803
804 001410
805 001410 023706 000676
806 001414 001403
807 001416 010637 000700
808 001422 104002
809
810
811
812 001424
813 001424 005700
814 001426 001401
815 00143C 104003
816
817
818 001432
819 001432 005701
820 001434 001401
gs; 001436 104004
823 001440 005702
824 001442 001401
gsg 001444 104005
827 001446 005703

22-§AN-82 08:4
8:4

& PAGE 17
INITIALIZE THE COMMON TAGS

BEGIN:

MTPS

#200

;SET PRIORITY TO 7

tttﬁtttttttt*t'itﬁtt'i'ttttttttttﬁtltttittﬁtQttt"ﬁ".ttttttttt

TEST "MOVC'' INSTRUCTION WITH ZERO SOURCE LENGTH
*SUCCESSFQ&7SOHPLEYION OF THIS TEST RESULTS I

'T EST 1
;e FILL”

") BYTES WRITTEN THROUGHOUT THE DESTINATION

*FIELD AND CONDITION CODES==->N,C=1 ¢ 2,v=0

tttttttﬁit!tttQttttttttt't'ttttt.ttttttttttiﬁtttt..t.it"t"*"
t'ttlttttl"ttﬁtttttti't't'ttttittititttttt'tt.t'..."i'ﬁt.'tt.

TSTI

648 :

65$:

18:

66%:

67%:

SCOPE
JSR

JSP

JSR
.WORD
JSR
+(LN!CLC
+SEZ!SEV

Mov(C

JSR
BEQ
ERROR

CMP
8EQ
MOV
ERROR

TST
ERROR

TST
BEQ
ERROR

TST
BEQ
ERROR

TST

gS.PREP
gXH
BUF2*1
377
PC,CLDST
RS ,XPSW

1
PC.GENR

PC,CKCC
64$

@#SAVR6, SP
65%
3P.i#8ADR6

R1
663
4

R
67%
5

R3

;SET UP INSTRUCTION ARGUMENTS
; SOURCE LENGTH

:SOURCE ADDRESS

;DESTINATION LENGTH
;DESTINATION ADDRESS

;FILL CHARACTER

;CLEAR DESTINATION

;STORE EXPECTED PSW VALUE

:SET UP GENERAL REGISTERS

:CLEAR CONDITION CODES N & €

:SET CONDITION CODES Z & V

SEXECUTE 'MOVE CHARACTER'* INSTRUCTION

sCHECK RESULTS
:CHECK PSW, GENERATE CONDITION CODES

sanknanteanaatadTEST 1 = ERROR Tennnsnnnnnntenee

:PSW_ERROR
;EXPECTED PSW 1S STORED AT 'EXPPSW'
;ACTUAL PSW IS STORED AT ''CCODES'’

VER}FY STACK POINTER IS RESTORED
:STORE BAD SP VALUE

tttttttttttttttTEST 1 = ERROR 2%tansaannnnntnn

;STACK POINTER NOT RESTORED BY INSTRUCTION
:EXPECTED VALUE OF SP_IS STORED AT ''SAVR6'’
:ERRONEOUS VALUE IS AT "BADRG'

;CHECK RO _FOR ZERO
ZERO

:BR,
ttttlttttttttttYEST 1 = ERROR 3Jtxwantassnnnnes

;RO SHOULD BE ZERO
nggK ?TATE OF OTHER GENERAL REGISTERS
:BR, IF ZERO

tttttttttttttttTEST 1 = ERROR 4rnsnnnnanenanny

:R1_SHOULD BE ZERO
;TEST R2
:BR IF ZERO

cannnnnntnnateaeTEST 1 = ERROR Stesvnnsennnnnne

R? SHO%LD BE 2ERO

SEQ 0016
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CVKAIB.P11 22~JAN=-82 08:43 T TEST 'MOVC'' INSTRUCTION WITH ZERO SOURCE LENGTH SEQ 0017
828 001450 001401 BEQ 68% :BR, IF ZERO
829 001452 104006 ERROR 6 tttttttttttttttTEST 1 = ERROR Gtentannananddnsd
830 R3 SHOULD BE ZERO
831 001454 68$:
832 001454 026704 177174 CMpP FILL,RG :CHECK R4 UNCHANGED
833 001460 001401 BEQ 69$ :BR IF OK
834% 001462 104007 ERROR 7 cunannnenenneansTEST 1 = ERROR Tttttttttttttttt
835 R4 SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FILL'’
836 001464 026705 177166 69%: CMP TABLE .RS JCHECK RS UNCHANGED
837 001470 001401 BEQ 708 :BR IF 0K
838 001472 104010 ERROR 10 '******'*t**'**TEST 1 = ERROR 10tsesnseanantdns
839 RS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘TABLE'’
840 001474 708:
841 :VERIFY DESTINATION CONTENTS
842 001474 012700 016710 MOV #8UF2.RO POINT RO TO DESTI..ATION LOWER BYTE BOUNDARY
843 001500 105720 1ST8B (RO)+ :TEST CONTENTS OF BOUNDARY
844 001502 001401 BEQ 718 BR. IF STILL ZERO
845 001504 104011 ERROR 1 InnnkaanansavansTEST 1 = ERROR 11asasaseanananas
846 LOUER BOUNDARY OF DESTINATION CHANGED
847 : SHOULD STILL EQUAL ZERO
848 001506 718:
849 001506 016701 177136 Mov DSTLN.R1 :STORE TRANSFER BYTE COUNT IN R1
850 001512 122067 177136 T1E12: (MPB (RO)+,FILL CHECK CHARACTERS IN DESTINATION
851 001516 001401 BEQ R BR IF 0K
852 001520 104012 ERROR 12 cunnnkeennenntanTEST 1 = ERROR 12ttsttnnnevantte
853 COHPARE ERROR IN DESTINATION
ggg RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
856 001522 005301 DEC R1 :DECREMENT BYTE COUNT
857 001526 001372 BNE T1E12 'BR IF NOT FINISHED CHECKING
858 001526 105720 TST8 (RO)+ TESI CONTENTS OF DEST. UPPER BOUNDARY
859 001530 001401 BEQ ENDT1 BR. IF STILL ZERO
860 001532 104013 ERROR 13 srannnsnnnnenansTEST 1 - ERROR 130nanenasatantne
861 UPPER BOUNDARY OF DEST. CHANGED
862 s SHOULD STILL EQUAL ZERO
863 001534 ENDT1:
864
866
867 IAREARAAANEARAANEAREEREE RO ANARREARARAARNRAARETRRARRARAAAAGRANNAES
863 SATEST 2 TEST *MOVC'* INSTRUCTION WITH ZERO DESTINATION LENGTH
869 22 AN ERARRANARRANAAARNE AN AR R AR SAAERRRAAANRARANNNRCAAARARACANRNANESY
870 s#SUCCESSFUL COMPLETION OF THIS TEST RESULTS IN
871 :«NO (AARACTERS TRANSFERED TO THE DESTINATION
872 <«AREA AND ALL CONDITION CODES CLEAR
873 i CARREARARRAARNRAEAANNRTNEARARANARRAAAAAANARRNARAACARACRAARACARAS
874 JANRERARARAAREARARARA RS LR ERARNAANARRAARRANAANARRAERCARACORACNRNS
875 001534 000004 TSTZ SCOPE
876 001536 012767 000712 177102 #ONES ,SRCAD :SET SOURCE ADDRESS
877 001544 004567 012500 JSR RS5.PREP SET UP INSTRUCTION ARGUMENTS
878 001550 000001 1 SOURCE LENGTH
879 001552 177777 NXM SOURCE ADDRESS
880 001554 000000 0 :DESTINATION LENGTH
881 001556 016711 BUF 2+1 :DESTINATION ADDRESS
882 001560 000377 377 FILL CHARACTER
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076030

004767
001401
104001

016710

012546
012400

012554

000676
000700

177004

176762

176754

016710

22-JAN-82 08:44_ PAGE 19
8:43 T2

648 :

65%:

18:

66%:

67%:

68$:

698%:

70$:

F 2

TEST "MOVC'' INSTRUCTION WITH ZERO DESTINATION LENGTH

MoV
CLR
CLR
JSR
.WORD
JSR
SCC

Mov(

JSR
BEQ
ERROR

CMP
8EQ

ERROR

cMP
BEQ
ERROR

TST
BEQ
ERROR

TST
BEQ
ERROR

TST
BEQ
ERROR

CMP
8EQ
ERROR

cMP
8EQ
ERROR

MOV
TSTB
BEQ

#BUF2,R0
(RO)+
(RO) +

RS  XPSW
200

PC.GENR

PC,CKCC
643

S#SAVRG, SP
65%
3P.3‘BADR6

RO,SRCLN
13
3
R1

66%

(A

R2

67%

5

R3

68%

6
FILL.RS
69%

TABLE RS

;POINT RO TO L{ R BYTE BOUNDARY
sCLEAR BOUNDARY & DEST. BYTES
;CLEAR UPPEn BYTE BOUNDARY
;STORE EXPECTED PSW VALUE

;SET UP GENERAL REGISTERS
;SET ALL CONDITION CODES
;EXECUTE "MOVE CHARACTER'' INSTRUCTION

sCHECK RESULTS
:CHECK PSW, GENERATE CONPITION CODES

senannnnnnneatadTEST 2 = ERROR Jentnntesvntannen
:PSW_ERROR ,

:EXPECTED PSW IS STORED AT '‘EXPPSW'’

;ACTUAL PSW IS STORED AT ‘'CCODES"

EER{FY STACK POINTER IS RESTORED
:STORE BAD SP VALUE

tttttttttttttttTEST 2 = ERROR 2*tranannansnsaty
;STACK POINTER NOT RESTORED BY IN: TRUCTION
:EXPECTED VALUE OF SP IS STORED AT ‘‘SAVRG''
;ERRONEOUS VALUE IS AT ‘BADRG'

g:ecffno SguAL TO SOURCE LENGTH
tt;tttt-lttttttTEST 2 = ERROR 3Jttrannsnnnnnnasn
RO SHOULD EQUAL SOURCE LENGTH
sCHECK OTHER GENERAL REGISTERS
TEST R1
:BR, IF 2ERO
sunkknnnkaveanneTEST 2 = ERROR 4rnnrnannnannney
R1 SHOULD BE ZERO
; TEST R2
;BR IF 2ERO
santennnnnnatantttTEST 2 =« ERROR Sennananennsnnne

:R2 SHOULD BE ZERO
;TEST R3
:BR, IF ZERO

sunsnnneneeaaatsTEST 2 = ERROR Grennnnnnnnnenne

:R3 SHOULD BE ZERO

s CHECK R4 UNCHANGED
;B8R IF OK

sannnnnnennsnennesTEST 2 - ERROR 7ttatt¢ttﬁnttntt

;R4 SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FILL'®

:CHECK RS UNCHANGED
:BR IF OK

;enneannenaneanndTEST 2 -~ ERROR 10tnttttttttttttt

:RS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘TABLE'

:VERIFY DESTINATION UNCHANGED

:POINT RO TO DES:INATION LOWER BYTE BOUNDARY
:TEST CONTENTS OF BOUNDARY

:BR, IF STILL Z2ERO

SEQ 0018
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CVKAIB .P11 22-JAN-82 08:43 T2 TEST ‘MOVC'* INSTRUCTION WITH ZERO DESTINATION LENGTH
940 001716 104011 ERROR 1 tttttttttttttttTEST 2 = ERROR 11tennennceenenne
941 LOUER BOUNDARY OF DESTINATION CHANGED
942 : SHOULD STILL EQUAL Z2ERO
943 001720 718:
944 001720 105720 TST8 (RO)+ :TEST CONTENTS OF DESTINATION BYTE
945 001722 0014601 8EQ 2% BR IF STILL ZERO
946 001724 104012 ERROR 12 tttﬁtttttttttttTEST 2 = ERROR 12tsssanatnntnene
947 DESTINATION WAS CHANGED
948 001726 2$:
949 001726 105720 7S78 (RO)+ :TEST CONTENTS OF DEST. UPPER BOUNDARY
950 001730 001401 BEQ ENDT2 BR IF STILL ZERO
951 001732 104013 ERROR 13 ttttttttttttttt!iSt 2 = ERROR 13nssnnneneennees
952 UPPER BOUNDARY OF DEST. CHANGED
953 : SHOULD STILL EQUAL ZERO
954 001734 ENDT2:
95S
956
2
959 IR AN AA AN E AN RARAANEANRAAR AR AR RAEAAA RN
960 tTEST 3 TEST 'MOVC'* INSTRUCTION WITH SRCAD .LT. DSTAD, SL .GT. DL
961 AR AR RAA AR AR R AR AN A AR ART AN RN AT NACARAANRARACRS
962 tPROPER TERMINATION FOR THIS INSTRUCTION TEST
963 .*IS A TRUNCATED SOURCE STORED IN THE DESTINATION
964 t(LEAST SIGNIFICANT BYTES NOT MOVED), RO EQUALS THE
965 *NUHBER OF UNMOVED SOURCE BYTES (SRCLN—DSTLN)
966 ~R1-->R3 EQUAL TO ZERO, AND ALL CONDITION
967 tCODES CLEAR
068 CARNAARANRAANT AN EA AR OV E NI RE RN RACRNNARANRARNOARARANNANIRATNNAR
969 AN AN AR AR AR AR E RN E AR AR RN R RARAACRANNARANNR AN EENRARATARAR
970 001734 000004 TST3 SCOPE
971 001736 004567 012306 JSR RS,.PREP sSET UP INSTRUCTION ARGUMENTS
972 001742 000020 20 ;SOURCE LENGTH
973 001744 016310 BUF1 SOURCE ADDRESS
974 001746 000011 1 DESTINATION LENGTH
975 001750 016711 BUF2+1 DESTINATION ADDRESS
976 001752 000377 377 FILL CHARACTER
977 001754 004767 012316 JSR PC,CLDST CLEAR DESTINATION
978 001760 004567 012360 JSR RS  XPSW STORE EXPECTED PSW VALUE
979 001764 000200 .WORD 200
980 001766 004767 012212 JSR PC,GENR :SET UP GENERAL REGISTERS
981 001772 000277 SCC SET ALL CONDITION CODES"
982 *EXECUTE ‘MOVE CHARACTER'® INSTRUCTION
933 001774 076030 MOV (C
v84 :CHECK RESULTS
985 001776 004767 012366 JSR PC,CKCC CHECK PSW, GENERATE CONDITION CODES
986 002002 001401 BEQ 648
987 002004 104001 ERROR 1 senannnnnnanvnaesTEST 3 « ERROR 1tsnrnnnsnanteny
988 PSU ERROR
989 :EXPECTED PSW IS STORED AT ‘EXPPSW'
990 AC'UAL PSW 1S STORED AT °‘‘CCODES
991 002006 648 :
992 002006 023706 000676 (0, SN SAVRG, SP :VERIFY STACK POINTER IS RESTORED
993 002012 001403 BEQ 658 BR IF 0K
994 002014 010637 000700 MOV SP,a#BADR6 ;STORE BAD SP VALUE

995 002020 104002 ERROR 2 cennannannasannsTEST 3 = ERROR 2enveanannnnnane

SEQ 0019
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CVFAIB.P11 22-JAN-82 0 TEST 'MOVC’® INSTRUCTION WITH SRCAD .LT. DSTAD, SL .GT. DL SEQ 0020
996 ;STACK POJNTER NOT RESTORED BY lNSTRUCTIOﬂ
G697 :EXPECTED VALUE OF SP I§ STOR;p AT °''SAVRé6'
998 ;ERRONEOUS VALUE IS AT °'BADRé6
999 002022 , 65%:
1000 002022 026704 176726 (mpP FILL,RS :CHECK R4 UNCHANGED
1001 002026 001401 BEQ 66$ ;B8R IF 0K
1002 002030 104003 ERROR 3 sennnannnnneneneTEST 3 - ERROR Jevennensenteter
1003 sR& SHOULD STILL EQUAL CONTENTS OF LOCATION 'FILL''
1006 002032 026705 176620 66%: CMP TABLE RS sCHECK RS UNCHANGED
1005 002036 001401 BEQ 67% :BR IF 0K
1006 002040 104004 ERROR 4 ;tttttttttttttttrfsr 3 « ERROR 4rensnasannaandd
1007 *RS SHOULD STILL EQUAL CONTENTS OF LOCATION '‘TABLE®’
1008 002042 67%:
1009 002042 016705 176576 MoV SRCLN,RS :CHECK RO=SOURCE LENGTH MINUS
1010 002046 166705 176576 sSus DSTLN,RS :DESTINATION LENGTH
1011 002052 020005 {MP RO,R5
1012 002056 001401 BEQ 2% :BR IF 0K
1013 002056 104005 ERROR 5 cansnsnanennnaeaTEST 3 = ERROR Stranseanstannes
1014 RO NOT EQUAL TO (SRCLN=DSTLN)
1015 002060 2$: :CHECK OTHER GENERAL REGISTERS
1016 002060 005701 TST R1 ;TEST R1
1017 002062 001401 BEQ 68$ ;8R, IF ZERO
1018 002064 104006 ERROR 6 ;ltttttttttttt'tTEST 3 « ERROR Gttrnnnennnttnnne
1019 :R1 SHOULD BE ZERO
1020 002066 005702 68S$: TST R2 TEST R2
1021 002070 001401 8EQ 698 ;BR IF ZERO
1022 002072 104007 ERROR 7 sensnnnnnnennessTEST 3 « ERROR 7xansxanansasnse
1023 ;R2 SHOULD BE ZERO
1024 002074 005703 698: TST R3 :TEST R3
1025 002076 001401 BEQ 708 ;:BR, IF Z1ERO
1026 002100 104010 ERROR 10 sannnnnannnennesTEST 3 = ERROR 10ssasanesavenany
1027 :R3 SHOULD BE ZERO
1028 002102 70$:
1029 :VERIFY DESTINATION AREA
1030 002102 012700 016710 MOV #8UF2 RO :POINT RO TO DESTINATION LOWER BYTE BOUNDARY
1031 002106 105720 1ST8 (RO)+ :TEST CONTENTS OF BOUNDARY
1032 002110 001401 BEQ 718 :BR, IF STILL ZERO
1033 002112 104011 ERROR 11 JeennnnnnnenaaeaTEST 3 = ERROR 11avennnnssnncens
1034 :LOWER BOUNDARY OF DESTINATION CHANGED
1035 : SHOULD STILL EQUAL ZERO
1036 002114 71%:
1037 002114 016702 176526 MOV SRCAD ,R?2 :POINT R2 TO SOURCE STRING
1038 002120 016701 °76526 MOV DSTLN,R1 :STORE TRANSFER BYTE COUNT IN R1
1039 002124 122022 > T3E12: (MPB (RO)+,(R2)+ sCHECK CHARACTERS IN DESTINATION
1040 002126 001401 BEQ .*4 ;BR IF 0K
10641 002130 104012 ERROR 12 JanannnenneeeanaTEST 3 = ERROR 12ttsansnnsananee
1042 :COMPARE ERROR IN DESTIMATION
}84‘2 :RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
1045 002132 005301 DEC R1 :DECREMENT BYTE COUNT
10646 0021364 001373 BNE T3E12 :BR, IF NOT FINISHED CHECKING
1047 002136 105720 TST8 (RO)+ :TE§T CONTENTS OF DEST. UPPER BOUNDARY
1048 002140 001401 BEQ ENDT3 :BR, IF STILL ZERO
1049 002142 104013 ERROR 13 I T P A (31 3 « ERROR 13nnsnsnnnsnnannn
1050 :UPPER BOUNDARY OF DEST. CHANGED
1051 : SHOULD STILL EQUAL ZERO
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1 2

TEST 'MOVC’'' INSTRUCTION WITH SRCAD .LT. DSTAD, SL .GT. DL

H 2222233231233 2383232222222 R R R R R dd iRl i ddadiiliadddi]])

*IEST 4

T574

64S$:

65%:

1$:

66%:

SCOPE
JSR

JSR
JSR
. WORD

JSR
+CLN!CLC
+SEV!SEZ

mov(

JSR
BEQ
ERROR

cMP
BEQ

MoV
ERROR

TST
8EQ
ERROR

TST
BEQ
ERROR

TST
BEQ

TEST "MOVC’' INSTRUCTION WITH SRCAD .LT. DSTAD, DL .GT.SL
R e e T e L L e L T L R I A P L R T
tPROPER TERMINATION OF THIS INSTRUCTION TEST IS

;A TRANSFER OF ALL BYTES FROM SOURCE TO DESTINATION

SwAND FILL'® CHARACTERS IN THE LSB OF THE DESTINATION,

'225-;R3 SOUAL TO 2ERO, AND CONDITION CODES N,C=1

- =
P L L L e L L L L L
R T e T T e S T T e e L

RS ,PREP
374
8UF 1

376
BUF2+1
377
PC,.CLDST

R{iXPSH
PC,GENR

PC,CKCC
648

SASAVR6, SP
658
gP.aJBAbﬂé

R1
663
4

R2
67%

JSET UP INSTRUCTION ARGUMENTS

+SOURCE LENGTH

;SOURCE ADDRESS

:DESTINATION LENGTH

:DESTINATION ADDRESS

;FILL CHARACTER

SCLEAR DESTINATION AREA & SET DEST. ADDRESS
:STORE EXPECTED PSW VALUE

:SET UP GENERAL REGISTERS
:CLEAR CONDITION CODES NEC
:SET CONDITION CODES V&Z
:EXECUTE 'MOVE CHARACTER'* INSTRUCTION

sCHECK RESULTS
:CHECK PSW., GENERATE CONDITION CODES

sannsanananetansTEST 4 « ERROR Jeenttnnnasnenne
;PSW ERROR

:EXPECTED PSW 1S STORED AT "EXPPSW'

*ACTUAL PSW IS STORED AT °‘'CCODES"

ZSR{FYOETACK POINTER IS RESTORED
;STORE BAD SP VALUE

atntttttttttattrfst & = ERROR 2tnttnsnnastaase
:STACK POINTER NOT RESTORED BY INSTRUCTION
;EXPECTED VALUE OF SP IS STORED AT °‘SAVRé'
;ERRONEOUS VALUE IS AT "BADRG'

;CHECK RO=ZERO

BR IF ZERO

ttttttlttlttlttTEST & = ERROR Jressnnnnsstannen
RO SHOULD BE ZERO

CHECK OTHER GENERAL REGISTERS

TEST R1

BR IF 2ERO

ttt!tttttttttttTEST 4 ~ ERROR {rarnsnnnnsenaee

;R1_SHOULD BE ZERO
;TEST R2
:BR IF ZERO

SEQ 0021
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CVKAIB.P11  22-JAN-82 08 TEST 'MOVC'' INSTRUCTION WITH SRCAD .LT. DSTAD, DL .GT.SL SEQ 0022
1108 002254 104005 ERROR 5 seanensaneennaneTEST 4 = ERROR Stannnnencnnenen
1109 sR2 SHOULD BE ZERO
1110 002256 005703 67%: TST R3 ;TEST R3
1111 002260 001401 BEQ 68$ ;BR, IF ZERO
1112 002262 104006 ERROR 6 sannnnenanansedsTEST 4 =~ ERROR Greeeencanannees
1113 sR3 SHOULD BE ZERO
1116 302264 68$:

1115 002264 026704 176364 CMP FILL,R :CHECK R& UNCHANGED

1116 502270 001401 BEQ 69% :BR IF 0K

1117 002272 104007 ERROR 7 sunnnanannanaetaTEST 4 = ERROR 7evevsenatnendee
1118 :Ré SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FILL®
1119 002274 026705 176356 69$: CMP TABLE RS sCHECK RS UNCHANGED

1120 002300 001401 BEQ 70% :BR IF 0K

1121 002302 104010 ERROR 10 sananennannnattatTEST 4 = ERROR 10eenennenneetnee
1122 *RS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘TABLE''
1123 002304 70$:

11264 sVERIFY DESTINATION

1125 002304 012700 016710 MOV #8UF2,R0O :POINT RO TO DESTINATION LOWER BYTE BOUNDARY
1126 002310 105720 TST8B (RO) + sTEST CONTENTS OF BOUNDARY

1127 002312 001401 BEQ 718 ;BR, IF STILL ZERO

1128 002314 10401 ERROR 11 JannnnnnnnensaasTEST 4 = FRROR 11tsssssnnntaneny
1129 :LOWER BOUNDARY OF DESTINATION CHANGED

1130 : SHOULD STILL EQUAL ZERO

1131 002316 718:

1132 002316 016702 176324 2s: MOV SRCAD ,R2 ;POINT R2 TO SOURCE ADDRESS

1133 002322 016701 176316 MOV SRCLN,R1 ;STORE TRANSFER BYTE COUNT IN R1

1134 002326 122022 T4E12: (MPB (RO)+, (R2)+ sCHECK CHARACTERS IN DESTINATION

1135 002330 001401 BEQ R ;BR IF 0K

1136 002332 104012 ERROR 12 cannnanennnnenedTEST 4 ~ ERROR 120 sassnanennsanse
1137 :COMPARE ERROR IN DESTINATION

}}gg :RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
1140 002334 005301 DEC R1 :DECREMENT BYTE COUNT

1141 002336 001373 BNE T4E12 ;BR, IF NOT FINISHED CHECKING

1142 002340 016705 176304 MOV DSTLN,RS :CALCULATE THE NUMBER OF ‘FILL'

1143 002344 166705 176274 SUR SRCLN,RS : CHARACTERS THAT SHOULD APPEAR IN DEST.

1144 002350 010501 MOV R5 R1 :STORE TRANSFER BYTE COUNT IN R1

1145 002352 122067 176276 T4E13: (MPB (ROY+,FILL :CHECK CHARACTERS IN DESTINATION

1146 002356 001401 BEQ .th :BR IF 0K

1147 002360 104013 ERROR 13 ;anenannnnanananTEST 4 = FRROR 13srsansnnnsnntne
1148 :COMPARE ERROR IN DESTINATION

}}gg :RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
1151 002362 005301 DEC N s:DECREMENT BYTE COUNT

1152 00236% 001372 BNE T4c13 :8R, IF NOT FINISHED CHECKING

1153 002366 105720 1ST8B (RO) + :TEST CONTENTS OF DEST. UPPER BOUNDARY

1154 002370 001401 8EQ ENDT4 :8R, IF STILL ZERO

1155 002372 104014 ERROR 14 sanannannaneanstTEST 4 = ERROR 14tnennnnnnnsanenne
1156 sUPPER BOUNDARY OF DEST. CHANGED

1157 s SHOULD STILL EQUAL ZERO

}}gg 002374 ENDTS:

1160 ;;ttttttttlttttttttttttt'ttttttttttttittttttttttttttttttttttttttt

1161 s*TEST 5 TEST ‘MOVC'' INSTRUCTION WITH SRCAD=DSTAD, SL .LT. DL

1162 :;ttltttttttttttttttttttt'tttttltttttttt'tttitttttttttttttttttttt

1163 :*PROPER TERMINATION OF THIS INSTRUCTION TEST IS
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1164 :*NO CHARACTERS TRANSFERED TO THE DESTINATION,

1165 :«R0~-~>R3 EQUAL TO ZERO, AND CONDITION CODES

1166 :*N, V=1 AND C,2=0.

1167 :«BOTH SOURCE AND DESTINATION ADDRESSES SHOULD

1168 ;*BE DON'T CARE VALUES, THEREFORE A PROBABLE

1169 :*NON~-EX]ISTANT MEMORY LOCATION WILL BE USED FOR

1170 :*BOTH ADDRESSES

1n ::tttttttttttttttttlttttttttttttttttttttttttttttttttttttttttttttt

1172 RN AN NN R AR AN ANEACANERTAREARRERA RN R R AN OC RN

1173 002374 000004 TSTS5:  SCOPE

1174 002376 004567 011646 JSR RS,PREP ;SET UP INSTRUCTION ARGUMENTS

1175 002402 000010 10 sSOURCE LENGTH

1176 002404 016711 BUF2+1 :SOURCE ADDRESS

1177 002406 000015 15 :DESTINATION LENGTH

1178 002410 016711 BUF2+1 :DESTINATION ADDRESS

1179 002412 000377 377 :FILL CHARACTER

1180 002414 004767 011656 JSR PC,CLDST

1181 002420 004567 011700 JSR R5,GENSRC :GENERATE A SOURCE STRING

1182 002426 000010 WORD 10

1183 002426 016711 WORD BUF2+1

1184 002430 004567 011710 JSR RS . XPSW :STORE EXPECTED PSW VALUE

1185 002434 000211 LWORD 211

1186 002436 004767 011542 JSR PC,.GENR :SET UP GENERAL REGISTERS

1187 002442 000245 +CLZ2!'CLC ;sCLEAR CONDITION CODES 2 £ C

1188 002444 000272 +SEV!SEN SET CONDITION CODES V & N

1189 :EXECUTE ‘MOVE CHARACTER'® INSTRUCTION
1190 002446 076030 MOV(

1791 ;CHECK RESULTS

1192 002450 004767 011714 JSR PC,CKCC :CHECK PSW, GENERATE CONDITION CODES

1193 002456 001401 BEQ 648

1.96 002456 104001 ERROR 1 ;tttttttttttttttTEST S = ERROR 1nanssasannnnent
1195 :PSW ERROR

1196 :EXPECTED PSW IS STORED AT ‘EXPPSW'

1197 sACTUAL PSW IS STORED AT °'CCODCS

1198 002460 648:

1199 002460 023706 000676 CMP a#SAVRG, SP :VERIFY STACK POINTER IS RESTORED

1200 002464 001403 BEQ 65$% :BR IF 0K

1201 002466 010637 000700 MOV SP,a#BADR6G ;STORE BAD SP VALUE

1202 002472 104002 ERROR b sannakknnnnnwnaaaJEST § « FRROR Z2tttnanannsnants
1203 :STACK POINTER NOT RESTORED BY INSTRUCTION
1204 :EXPECTED VALUE OF SP I§ STORgp AT "‘SAVR6'’
1205 :ERRONEOUS VALUE IS AT °‘BADR6

1206 002474 65%:

1207 002474 005700 TST RO ;CHECK RO FOR ZERO

1208 002476 001401 BEQ 1$ :BR, IF EQUAL

1209 002500 104003 ERROR 3 sennnnnsannsnaasTEST 5 ~ ERROR Jaknsntnananoney
1210 ;RO SHOULD BE ZERO

1211 002502 18: ;CHECK OTHER GENERAL REGISTERS

1212 002502 005701 TST R1 ;TEST R1

1213 002506 (001401 BEQ 66$ ;BR, IF 2ERO

1216 002506 104004 ERROR 4 sannnnnansnssanaJEST § « ERROR 4rsnnnsenannnnes
1215 :R1 SHOULD BE ZERO

1216 002510 005702 66$: TST R2 :TEST R2

1217 002512 001401 BEQ 67% :BR IF ZERO

1218 002514 104005 ERROR 5 sawnnananndsasxsTEST § = ERROR Sevnnennnnnneney
1219 ;R2 SHOULD BE ZERO
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CVKAIB.P11 22~JAN-B82 08:43 TS TEST "MOVC'' INSTRUCTION WITH SRCAD=DSTAD, SL .LT. DL SEQ 0024
1220 002516 005703 67%: TST R3 :TEST R3
1221 002520 001401 BEQ 68% ‘BR, IF ZERO
1222 002522 104006 ERROR 6 sestesensneasaneTEST 5 = ERROR Gnenranenenennes
1223 *R3 SHOULD BE ZERO
1224 002524 68S$:
1225 002524 026704 176124 CMP FILL,RG ;CHECK R4 UNCHANGED
1226 002530 001401 BEQ 698 .BR IF 0K
1227 002532 104007 ERROR 7 sannannnnnnenwaasTEST S = ERROR 7eeeennneesannee
1228 *R& SHOULD STILL EQUAL CONTENTS OF LOCATION ‘¥ILL"
1229 002534 026705 176116 698 : CMP TABLE ,RS *CHECK RS UNCHANGED
1230 002540 001401 8EQ 708 :BR IF 0K
1231 002542 104010 ERROR 10 suwnnnnansanatndTEST 5 = ERROR 10veannsanatatets
}%%% 002544 20 SRS SHOULD STILL EQUAL CONTENTS OF LOCATION °‘TABLE'
123 002544 012700 016710 MOV #BUF2,R0O sPOINT RO TO DESTINATION LOHER BYTE BOUNDARY
1235 002550 105720 1578 (RO)+ STEST CONTENTS OF BOUNDAR
1236 002552 001401 BEQ 718 “BR, IF STILL ZERO
1237 002554 104011 ERROR 11 -t-'-tt"tt-*ttresr § = ERROR 11tteensnanasanne
1238 .LOHER BOUNDARY OF DESTINATION CHANGED
1239 : SHOULD STILL EQUAL ZERO
1240 002556 718:
12641 002556 012702 016711 MOV #BUF2+1 R2
1242 002562 016701 176056 MOV SRCLN, Ri :STORE TRANSFER BYTE COUNT IN R1
1243 002566 122022 TSE12: (MPB (R0)+ (R2)+ CHECK CHARACTERS IN DESTINATION
1246 002570 001401 BEQ *BR IF 0K
1245 002572 104012 ERROR 12 sannannnnncannnaeTEST 5 = ERROR 12¢tesnnnnnvananns
1246 COHPARE ERROR IN DESTINATION
}32; RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
1249 002574 005301 DEC R1 :DECREMENT BYTE COUNT
1250 002576 001373 BNE TSE12 BR IF NOT FINISHED CHECKING
1251 002600 016702 176044 MOV DSTLN,R?2 CALCULATE FILL LENGTH
1252 002604 166702 176034 suB SRCLN,RZ2
1253 002610 010201 MOV R2,.R1 :STORE TRANSFER BYTE COUNT IN R1
1254 002612 122067 176036 TSE13: (CMPB (R6)+ FILL :CHECK CHARACTERS IN DESTINATION
1255 002616 001401 BEQ BR IF 0K
1256 002620 104013 ERROR 13 saennnsannenanasaTEST 5§ = ERROR 13vtesnnananatnne
1257 <COMPARE ERROR IN DESTINATION
}5?3 RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
1260 002622 005301 DEC R1 :DECREMENT BYTE COUNT
1261 002624 001372 BNE TSE13 *BR, IF NOT FINISHED CHECKING
1262 002626 105720 1818 (RO)+ TEST CONTENTS OF DEST. UPPER BOUNDARY
1263 002630 001401 BEQ ENDTS BR IF STILL ZERO
1266 002632 104014 ERROR 14 tt*tttt*ttt*tttTEST S = ERROR 14ranrnsnrnnnnnat
1265 UPPER BOUNDARY OF DEST. CHANGED
1266 :  SHOULD STILL EQUAL ZERO
1267 002634 ENDTS:
1569
1270 IRRAAAAANAARARAAARRARN AR RRAAAANARARRNNARRARERRAAARAAAAACRARANY
1271 tresr 6 TEST 'MOVC'* WITH SRCAD .LT. DSTAD, SRCLN .GT. DST.N
1272 nt"ntttuttunutntntuttntttnntnnnttnt"tnuun
1273 rrHIs TEST CHECKS FOR PROPER TRANSFER OF BYTES WHEN
1274 tTHE DESTINATION AREA 1S CONTAINED WITHIN THE SOURCE AREA.
1275 “«THEREFORE, SRCAD<DSTAD AND SRCLN>DSTLN
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CVKAIB.P11 22=JAN=-82 0 TEST "MOVC'* WITH SRCAD .LT. DSTAD, SRCLN .GT. DSTLN SEQ 0025
1276 -«THE RESULT IS A TRUNCATED (LSB OF SOURCE NOT MOVED) SOURCE
1277 -«IN THE DESTINATION, RO EQUALS (SRCLN=-DSTLN), AND ALL CONDITION
1278 ;*CODES CLEAR
1279 IINARANRAARRANAARARAANARETANNARAAARRRRAARACAASSAAAAAAACAARRACALAD
1280 INAERRNARAAARANER AR O NN RN ARAANANAARAAAAAAARAAAAEARARRARARANACNSE
1281 002634 000004 TST6:  SCOPE
1282 002636 004567 011406 JSR RS ,PREP :SET UP INSTRUCTION ARGUMENTS
1283 002642 000020 20 sSOURCE LENGTH
1284 002644 016710 BUF2 sSOURCE ADDRESS
1285 002646 000007 7 JDESTINATION LENGTH
1286 002650 016713 BUF2+3 :DESTINATION ADDRESS
1287 002652 000377 377 sFILL CHARACTER
1288 002654 004567 011444 JSR RS,GENSRC :GENERATE SOURCE STRING
1289 002660 000020 .WORD 20
1290 002662 016710 .WORD BUF2
1291 002664 004567 011454 JSR RS ,XPSW :STORE EXPECTED PSW VALUE
1292 002670 000200 _WORD 200
1293 002672 004767 011306 JSR PC,GENR :SET UP GENERAL REGISTERS
1294 :SET ALL CONDITION CODES
1295 :EXECUTE "MOVE CHARACTER'® INSTRUCTION
1296 002676 076030 Mov(
1297 :CHECK RESULTS
1298 002700 004767 011464 JSR PC,CKCC :CHECK PSW, GENERATE CONDITJON CODES
1299 002706 001401 BEQ 648
1300 002706 104001 ERROR 1 sunannannntantaaTEST 6 ~ ERROR 1anvnannssstnnen
1301 ;PSW ERROR
1302 :EXPECTED PSW IS STORED AT 'EXPPSW'*
1303 :ACTUAL PSW IS STORED AT ''CCODES
1304 002710 64$:
1305 002710 023706 000676 CMpP a#SAVR6,SP :VERIFY STACK POINTER 1S RESTORED
1306 002714 001403 8EQ 658 :BR IF 0K
1307 002716 010637 000700 MOV SP,a#BADR6 :STORE BAD SP VALUE
1308 002722 10402 ERROR P4 sennanannnennensEST 6 = ERROR 2tsttnstantaneny
1309 :STACK POINTER NOT RESTORED BY INSTRUCTION
1310 JEXPECTED VALUE OF SP 1§ STOR§p AT ''SAVR6'’
1311 :ERRONEOUS VALUE 1S AT °‘BADRé6
1312 002724 658:
1313 002724 026704 175724 CMP FILL,RG :CHECK R4 UNCHANGED
1314 002730 001401 BEQ 66% :BR IF 0K
1315 002732 104003 ERROR 3 sannnannnnnnsawtTEST 6 = ERROR Jnvannnntansnens
1316 :R4 SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FILL
1317 002734 026705 175716 66%: CMP TABLE RS :CHECK RS UNCHANGED
1318 0027640 001401 BEQ 67% :BR IF OK
1319 002742 1064004 ERROR 4 suansnsnnnasanssTEST 6 - ERROR (2311332222214 2]
1320 sRS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘TABLE'’
1321 002744 67$:
1322 002744 016705 175674 MOV SRCLN,RS :CHECK RO=SOURCE LENGTH MINUS
1323 002750 166705 175674 SUB DSTLN.RS :DESTINATION LENGTH
1326 002754 020005 CMP RO.R5
1325 002756 001401 BEQ 2$
1326 002760 104005 ERROR 5 sanssasnnnnnenenJEST 6 = ERROR Stestcassnnnnsey
1327 ;RO NOT EQUAL TO (SRCLN-DSTLN)
1328 002762 2$:
1329 002762 005701 TST R1 STEST R1
1330 002764 001401 BEQ 683 ;BR, IF ZERO
1331 002766 104006 ERROR 6 susnnnanananaeatTEST 6 - ERROR Gretnnsrasnnnnnn




TEST 'MOVC'' WITH SRCAD .

R2
699
4

R3
708
10

43
1

R1,DSTAD
3

#8UF1 ,R2
DSTLN,R3
(R2)+,(R1)+
6%

12

RO
R3

5%

SRCAD ,R3
SRCLN,R3
(RO)+,(R1)+
108

13

R1.R3
’$

N 2

LT. DSTAD, SRCLN .GT. DSTLN
:R1 SHOULD BE ZERO

:TEST R2

;BR IF 2ERO

cennnnnsnanatttaTEST 6 = ERROR 7enennncnnnaneny
;R2 SHOULD BE ZERO

sTEST R3

:BR, IF ZERO

cannannnnnantnttTEST § = ERROR 10ravwsensanannne

*R3 SHOULD BE ZERD

:VERIFY DESTINATION & NON-OVERLAP SOURCE
sCHECK BEGINNING OF OLD SOURCE AREAS

sunannnatttattddTEST 6 = ERROR 11evvnnnennnnnnns

:NON=OVERLAP SOURCE AREA CHANGED

:RO CONTAINS PC+1 OF CHANGED SOURCE CHARACTER
sREACHED START OF DESTINATION?

:BR, IF NO

;CHECK DESTINATION AREA

sannnannantswt st TEST 6 = ERROR 12tennanannanwaen

:COMPARE ERROR IN DESTINATION

sR1 CONTAINS PC+1 OF BAD DESTINATION CHARACTER
;UPDATE POINTER TO OLD SOURCE

sDECREMENT DEST. BYTE COUNT

;8R, IF NOT FINISHED

;CHECK LOWER PORTION OF NON-OVERLAP SOURCE

snnannnnnneasataTEST 6 = ERROR 13¢nnnannnenvnnne
sNON~OVERLAP SOURCE AREA CHANGED

;RO CONTAINS PC+1 OF CHANGED SOURCE CHARACTER
:FINI??ESOCHECK?

s ARARRNANRARARANAARC R C AN RRANLARARARNARARANRAARARAAGRAANAACCANAY

TEST *MOVC'* WITH DSTAD .6T. SRCAD, SRCLN .LT. DSTLN

':tittﬁ..tttttttttt'tttitttt"ﬁ.tlﬁttt.ttﬁl.t'ttttt't'!titttﬁtl't

s*THIS TEST CHECKS FOR PROPER TRANSFER OF BYTES WHEN
s*THE SOURCE AREA IS CONTAINED WITHIN THE DESTINATION AREA.

s*DESTINATION AND ’7I§L
;*CODES N,C=1 AND Z,v=0

SRCAD>DSTAD AND DSTLN>SRCLN.

f 1S A FULL TRANSFER OF THE SOURCE TO THE
CHARACTERS IN THE LSB OF THE

EQUAL ZERO, AND CONDITION

::.'Q.tﬁﬁﬁ.titttttttttt'*tOItttt.ttltttittttit't..iti.tt.ﬁt.."'.
St AARANRANARRARARNRANRNN LA R RARAARRARARAARNANARREAAARANNANANARAANRNADY

MAIN. MACY11 30(1046) 22-JAN=82 08:44 PAGE 27
CVKAIB.P11  22-JAN-82 08:43 16
1332
1333 002770 005702 688:  TST
133, 002772 001401 BEQ
}ggg 0027764 104007 ERROR
1337 002776 005703 698:  TST
1338 003000 001401 BEQ
}gzg 003002 104010 ERROR
1341 003004 708 :
1342
1343 003 012700 016310 MOV
1344 003010 012701 016710 MOV
1345 003014 122021 38: CMP8
1346 003016 001401 BEQ
1347 003020 104011 ERROR
1348
1349
1350 003022 020167 175624 48: CMP
1351 003026 002772 BLT
1352 003030 012702 016310 MOV
1353 003034 016703 175610 MOV
1354 003040 122221 58: CMPB
1355 003042 001401 BEQ
1356 003044 104012 ERROR
1357
1358
1359 003046 005200 6$: INC
1360 003050 005303 DEC
1361 003052 001372 BNE
1362 003054 016703 175566 MOV
1363 003060 066703 175560 ADD
1364 003064 122021 78: CMPB
1365 003066 001401 BEQ
1366 003070 104013 ERROR
1367
1368
1369 003072 020103 108: (™
1370 003074 002773 BLT
1371
1372
1373 ::
1374 s*TEST 7
1375 :
1376
1377
1378 * «THEREF ORE
1379 s«THE RESUL
1380
1381 +«DESTINATION; RO==>R
1382
1383
138%
1385 003075 000004 $§17:  score
1386 003100 004567 011144 JSR
1387 003104 000007

R5,PREP
4

sSET UP INSTRUCTION ARGUMENTS
s SOURCE LENGTH

SE@ 0026
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JMAIN.  MACY11 30(1046) 22-JAN-B2 08:44_ PAGE 28  _
CVKAIB.P11 22-JAN-82 08:43 17 TEST ‘MOVC'* WITH DSTAD .GT. SRCAD, SRCLN .LT. DSTLN SEQ 0027
1388 003106 016713 BUF2+3 :SOURCE ADDRESS
1389 003110 000017 17 :DESTINATION LENGTH
1390 003112 016711 BUF 2+1 JDESTINATION ADDRESS
1391 003114 000377 377 sFILL CHARACTER
1392 003116 004767 011154 JSR PC,CLDST :CLEAR DESTINATION
1393 003122 004567 011176 JSR RS5,GENSRC :GENERATE A SOURCE STRING
1394 003126 000007 LWORD 7
1395 003130 016713 .WORD BUF2+3
1396 003132 004567 011206 JSR RS XPSW ;STORE EXPECTED PSW VALUE
1397 003136 000211 LWORD 211
1398 003140 004767 011040 JSR PC.GENR :SET UP GENERAL REGISTERS
1399 003144 000251 +CLN!CLC :CLEAR CONDITION CODES N R C
1400 003146 000266 +SEV!SEZ JSET CONDITION CQPES vel
1401 JEXECUTE ‘MOVE CHARACTER'' INSTRUCTION
1402 003150 076030 MOv(
1403 ;CHECK RESULTS
14064 003152 004767 011212 JSR PC,CKCC :CHECK PSW, GENERATE CONDITION CODES
1405 003156 001401 BEQ 64$
1406 003160 104001 ERROR swannnnennnnnnvsTEST 7 = ERROR 1ttndenandanetne
1407 :PSW_ERROR .
1408 :EXPECTED PSW IS STORED A.T. "EXPP.S.U‘
1409 ;sACTUAL PSW IS STORED AT ‘‘CCODES
1410 003162 64$:
16411 003162 023706 000676 (Mp a#SAVRG,SP :VERIFY STACK POINTER IS RESTORED
1412 003166 001403 BEQ 658 :BR IF 0K
1413 003170 010637 000700 MOV SP,8#BADRG :STORE BAD SP VALUE
1614 003176 104002 ERROR 2 sennnnennnnannansTEST 7 = ERROR 2tervtnnnstnneae
1415 :STACK POINTER NOT RESTORED BY INSTRUCTION
1416 :EXPECTED VALUE OF SP IS STORED AT ‘‘SAVR6''
1417 :ERRONEOUS VALUE IS AT 'BADR6
1418 003176 65%:
1419 003176 005700 TST RO :CHECK RO FOR ZERO
1420 003200 001401 BEQ 1$ :BR, IF ZERO
1421 003202 104003 ERROR 3 sananansnsensasefEST 7 = ERROR 3Jerevnnntencenees
1422 ;RO SHOULD BE ZERO
1423 003204 1$:
1424 003204 005701 TST R1 :TEST R
1425 003206 001401 BEQ 663 ;BR, IF ZERO
1426 003210 104004 ERROR & sannnnnnnanneassTEST 7 « ERROR 4evnanenaneneeee
1427 :R1 SHOULD BE ZERO
1428 003212 005702 66$: TST R2 :TEST R2
1429 003214 0014601 BEQ 67% ;BR IF ZERO
1430 003216 104005 ERROR 5 sannnntnnnnnenasTEST 7 = ERROR Stasantnsnneattne
16431 :R2 SHOULD BE ZERO
1432 003220 005703 67%: TST R3 :TEST R3
1433 003222 001401 BEQ 68$ :BR, IF ZERO
1434 003224 104006 ERROR 6 sannnnnananarnasTEST 7 = ERROR Otrasestnnnsnannt
1435 :R3 SHOULD BE ZERO
1436 003226 68$:
1437 003226 026704 175422 (MpP FILL,RG :CHECK R4 UNCHANGED
1438 3 001401 BEQ 69% :BR IF 0K
1439 0035234 104007 ERROR 7 cananannsnnnnnasTEST 7 = ERROR 7teasessnnnnante
1440 :RG SHOULD STILL EQUAL CONTENTS OF LOCATION °FILL"
1441 0032 026705 175414 69%: (Mp TABLE ,RS :CHECK R5 UNCHANGED
1442 003242 001401 8EQ 708 ;BR IF 0K
1443 003244 104010 ERROR 10 JenanennanenaettTEST 7 = ERROR 10nvsenaneen-senn
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JMAIN. MACYYT 30(1046) 22 gAN-BZ 08: 447 PAGE 29

CVKAIB.P11 22=JAN-82 TEST "MOVC'' WITH DSTAD .GT. SRCAD, SRCLN .LT. DSTLN SEQ 0028
14644 :RS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘TABLE''
1445 003246 70%:

14646 sVERIFY DESTINATION

1447 003246 012700 016710 Mov #8UF2,R0 POINT RO TO DESTINATION LOWER BYTE BOUNDARY
1448 003252 105720 TST8 (RQ)+ :TEST CONTENTS OF BOUNDARY

1449 003254 001401 BEQ 71% BR IF STILL ZERO

145C 003256 104011 ERROR 11 ;ennanasavancanasTEST 7 = ERROR 11eesnensneecanne
1451 LOUER BOUNDARY OF DESTINATION CHANGED

1452 : SHOULD STILL EQUAL ZERO

1453 003260 718:

1454 003260 012702 016310 2s: MOV #8UF1,R2 :POINT R2 TO ORIGINAL SOURCE BYTES

1455 3264 016701 175354 MOV SRCLN,R1 :STORE TRANSFER BYTE COUNT IN R1

1456 003270 122022 T7€12: (MPB (RO)+,(R2)+ CHECK CHARACTERS IN DESTINATION

1457 003272 001401 BEQ R BR IF 0K

1458 003274 104012 ERROR 12 sunnennneasaataeTEST 7 = ERROR 12%nnntnntstanans
16459 COHPARE ERROR IN DESTINATION

}22? RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
1462 003276 005301 DEC R1 :DECREMENT BYTE COUNT

1463 003300 001373 BNE T7E12 BR IF NOT FINISHED CHECKING

1664 003302 016705 175342 MOV DSTLN,RS CHECK FILL

1465 003306 166705 175332 suB SRCLN RS

1466 003312 122067 175336 3%: CMPB (RO)* FILL

16467 003316 001601 BEQ

1468 003320 104013 ERROR 13 sunnnnnannanaensTEST 7 = ERROR 13ennncannnnennnye
1469 '?ILL"ERROR IN DESTINATION

1470 003322 105305 48 DECB RS

16471 003326 001372 BNE 3s

1472 003326 105720 TST8B (RO) + sTEST CONTENTS OF DEST. UPPER BOUNDARY

1473 003330 001401 BEQ ENDT? BR IF STILL ZERO

16474 003332 104014 ERROR 14 cansannnnnanannsaTEST 7 ~ ERROR l4etennnnneennene
1475 UPPER BOUNDARY OF DEST. CHANGED

1476 : SHOULD STILL EQUAL ZERO

1477 003334 ENDT?:

1478

i

1481 T L L L L b L L L e L L

1482 'TEST 10 TEST "MOVC'* WITH DSTAD .LT. SRCAD & SRCLN .GT. DSTLN, (TRUNCATON)
1483 L L L T T e ST L I DL L

1484 'THIS TEST CHECKS FOR PROPER TRANSFER OF BYTES WHEN THE

1485 *SOURCE IS HIGHER IN MEMORY THAN THE DESTINATION AND THE TRANSFER

1486 *IS TRUNCATED (SRCLN > DSTLN).

1487 'THE RESULT IS A TRUNCATED SOURCE IN THE DESTINATION, RO-->R3

1488 *EOUAL ZERO, AND ALL CONDITION CODES CLEAR

1489 ttt'ttttttttttttttttttttttttttttQtttttttttttttttttt'ttttttttttt

1490 LR T T Y T T Lt AL ST T

1491 003334 000004 isno SCOPE

1492 003336 004567 0710706 JSR RS.PREP :SET UP INSTRUCTION ARGUMENTS

1493 003342 000020 20 .SOURCE LENGTH

1494 003344 016730 BUF2+20 :SOURCE ADDRESS

1495 003346 000007 4 :DESTINATION LENGTH

1496 003350 016711 BUF2+1 :DESTINATION ADDRESS

1497 003352 000377 377 FILL CHARACTER

1498 003354 004767 010716 JSR PC,CLDST CLEAR DESTINATION AREA

1499 003360 004567 010740 JSR RS.,GENSRC GENERATE SOURCE STRING
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CVKAIB.P1 22=~JAN=-82 08:43 T10 TEST "MOVC'' WITH DSTAD .LT. SRCAD & SRCLN .GT. DSTLN, (TRUNCATON) SEQ 0029
1500 003364 0000%0 LWORD 20
1501 003366 016730 .WORD BUFZ2+20
1502 003370 004567 010750 JSR RS XPSW :STORE EXPECTED PSW VALUE
1503 003374 000200 .WORD 200
1504 003376 004767 010602 JSR PC,GENR :SET UP GENERAL REGISTERS
}ggg 0L3402 000277 SCC :SET ALL CONDITION CODES
}ggg 003404 076030 MOV( sEXECUTE 'MOVE CHARACTER'' INSTRUCTION
1509 003406 004767 010756 JSR PC,CKCC :CHECK PSW, GENERATE CONDITION CODES
1510 003412 001401 BEQ 648
1511 003414 104001 ERROR 1 sannnneeneat et adTEST 10 = ERROR 1eennneenncentes
1512 ;PSW_ERROR N
1513 :EXPECTED PSW IS STORED AT 'EXPPﬁy
1514 sACTUAL PSW IS STORED AT '‘CCODES’
1515 003416 648:
1516 003416 023706 000676 CMP @#SAVRG, SP JVERIFY STACK POINTER IS RESTORED
1517 003422 001403 BEQ 65% JBR IF 0K
1518 003424 010637 000700 MOV SP,8#BADRG sSTORE BAD SP VALUE
1519 003430 104002 ERROR 2 sannnnnannnnawsdTEST 10 = ERROR 2trecnnnnanennnn
1520 JSTACK POINTER NOT RESTORED BY INSTRUCT!Oﬂ
1521 SEXPECTED VALUE OF SP IS STOR;D AT '‘SAVR6''
1522 ;ERRONEOUS VALUE [S AT 'BADR6'’
1523 003432 65$%:
1526 003432 026704 175216 (MP FILL,RS JCHECK R4 UNCHANGED
1525 003436 001401 8EQ 663 :BR IF 0K
1526 003440 104003 ERROR 3 JanknnannnnennnsTEST 10 = ERROR 3Jtreasssantasssne
1527 sR4 SHOULD STILL EQUAL CONTENTS OF LOCATION ‘¥ILL'®
1528 003442 026705 175210 66$: CMP TABLE RS sCHECK RS UNCHANGED
1529 003446 001401 BEQ 67% ;BR IF 0K
1530 003450 104004 ERROR 4 JuennnacannennaeTEST 10 = ERROR 4Larnsenantetenss
1531 sRS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘TABLE‘’
1532 003452 67%:
1533 003452 016705 175166 MoV SRCLN.RS ;CHECK RO=SOURCE LENGTH MINUS
1534 003456 166705 175166 SUB DSTLN.RS : DESTINATION LENGTH
1535 003462 020005 CMP RO RS
1536 003464 001401 BEQ 68
1537 003466 104005 ERROR 5 sakennnnsnnnanaaTEST 10 = ERROR Strassnsasanenne
1538 ;RO NOT EQUAL TO (SRCLN-DSTLN)
1539 003470 68%: ;CHECK OTHER GENERAL REGISTERS
1540 003470 005701 TST R1 sTEST R1
15641 003472 001401 BEQ 69% :BR, IF ZERO
1542 003474 104006 ERROR 6 sannaneannneneenaTEST 10 = ERROR 6ternnnsenasvany
1543 sR1 SHOULD BE ZERO
1544 003476 005702 69%: TST R2 sTEST R2
1545 003500 001401 BEQ 70% ;BR IF 2ERO
1546 003502 104007 ERROR 7 sannnennnnsnnannTEST 10 = ERROR 7trracantsnnnnne
1547 :R2 SHOULD BE ZERO
1548 003504 005703 70$: TST R3 sTEST R3
1549 003506 001401 BEQ 71$ ;8R, 1F 2ERQ
1550 003510 104010 ERROR 10 cennntnnnnsstasaTEST 10 - ERROR 10xvnnensnnvanense
1551 :R3 SHOULD BE ZERO
1552 003512 718:
1553 :VERIFY DESTINATION AREA
1554 003512 012700 016710 MOV #8UF2 RO ;POINT RO TO DESTINATION LOWER BYTE BOUNDARY
1555 003516 105720 TST8 (RO)+ :TEST CONTENTS OF BOUNDARY
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30(1046) 22-JAN-82 08:44 PAGE 31
22=JAN=-82 08:43 T10 TEST "MOVC'' WITH DSTAD .LT. 3SRCAD & SRCLN .GT. DSTLN, (TRUNCATON) SEQ 0030
001601 BEQ 72% :BR, IF STILL ZERO
104011 ERROR 1 tttttttttttt.ttTEST 10 = ERROR 11trscanetntenene
LOUER BOUNDARY OF DESTINATION CHANGED
22¢ : SHOULD STILL EQUAL ZERO
016702 175116 MOV SRCAD ,R?2
016791 175114 MOV DSTLN,R1 ;STORE TRANSFER BYTE COUNT IN R1
122022 T10E12: CMPB (RO +,(R2)+ CHECK CHARACTERS IN DESTINATION
001401 BEQ th BR IF OK
104012 ERROR 12 .tttttttttttttttTEST 10 = ERROR 12%%nsasntsnndnee
;COMPARE ERROR IN DESTINATION
RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
005301 DEC R1 ;DECREMENT BYTE COUNT
001373 BNE T10E12 BR IF NOT FINISHED CHECKING
105720 1STB (RO) ¢+ TEST CONTENTS OF DEST. UPPER BOUNDARY
001401 BEQ ENDT10 BR. IF STILL ZERO
104013 ERROR 13 cannnenenrantanesTEST 10 = ERROR 13tsanantasnsnans
UPPER BOUNDARY OF DEST. CHANGED
: SHOULD STILL EQUAL ZERO
ENDT10:
JARRARNRANEARAARANRAAARCAARRRARARNRARAAAGRAANAEANETRANRACNEIRANY
-rssr 1 TEST THAT BAD 'MOVE'* OPCODES TRAP
IEARERNEAREARRARAARAANEEAARRAANAAAARAANACAAAAAANAANRANACARNRONNE
tTNIS TEST VERIFIES THAT OPCODES 076032-->076037 TRAP TO
tLOCATION 10
INRARARNRRRARNERANRAANRARARARARANAANAAAANAAANRAARAARINRANCARRNAAR
Qtttttt'tttttttttttttttttttttttttttttttttttttttttttttttt!tttttt
000004 TSTTT SCOPE
004567 010466 JSR RS .PREP :SET UP INSTRUCTION ARGUMENTS
016310 BUF1 sSOURCE LENGTH
000010 10 SOURCE ADDRESS
016710 BUF?2 DESTINATION LENGTH
000010 10 DESTINATION ADDRESS
000377 377 sFILL CHARACTER
012737 076032 003622 MOV #076032 348011 STORE THE FIRST BAD MOVE OPCODE
013767 000010 175076 MOV a0, TENPT SAVE ILLEGAL INSTRUCTION TRAP VECTOR
012737 003632 000010 MOV #TTTCONT a0 POINT ILLEGAL INSTRUCTION VECTOR TO CONTINUE TEST
004767 010362 REP11: JSR PC.GENR SET UP GENERAL REGISTERS
076032 8D11: LWORD 076032 JEXECUTE BAD MOVE INSTRUCTION
016700 177772 MOV BD11,RO :STOKE BAD OPCODE THAT DID NOT TRAP
104001 ERROR 1 ttttttttttttt'tTEST 11 « ERROR 1atasasssnnenneyn
BAD MOVE OPCODE DID NOT TRAP
RO CONTAINS THE BAD OPCODE
012626 T11CONT : MOV (SP)# (SP)+ :RESTORE THE STACK POINTER AFTER THE TRAP
005267 177762 INC JINCREMENT INSTRUCTION OPCODE
022767 076040 177754 (MNP 0076040 8011 FINISNED WITH BAD MOVE OPCODES?
001363 BNE REP11 :BR IF NOT
016737 175032 000010 MOV TEHPT.BITO RESTORE ILLEGAL INSTRUCTION TRAP VECTOR

\
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174746
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1264714

174672

174646

174650
174642
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F 3

TEST THAT BAD 'MOVE'' OPCODES TRAP

s *INTERRUPT
s *THE PROPE

JSR

TST
BNE
JSR

JSR
MOV
MoV
CLR
JSR
MOV
JSR

. WORD
MTPS

BIS
JSR

+CLNICLC
+SEV!SEZ

mov(
MFPS

8IT
BNE
81C
CMP
8EQ

ERROR

cHP
BEQ
MoV

';tttttttttttttttitttQt'itt"tttttt'tttQt..Q......'...'.'.Q.Q...'

T*TEST 12

TEST INTERRUPTABILITY OF "MOVC'* INSTRUCTION

PC,SKPINT

TEMP

IST13

RS .PREP
374,

BUF1

376

BUF 2+1

377
PC.CLDST
#MC,PCI ;S
#INTR,STVE
aTPSW
PC,TDONE

s AARRANRRRARARARAANACRARAAANRAARNRARRRAAAANRANARRARAAAANREROARNE

**THIS TEST INTERRUPTS THE EXECUTION OF THE ‘WOVC''

S«INSTRUCTION, RESUMES THE INSTRUCTION AFTER THE
AND VERIFIES THE RESULTS.

R RESULT IS ALL BYTES MOVED

1«TO THE DESTINATION, RO-=>R3 EQUAL ZERO

S«AND CONDITION CODES N,C=1 AND Z,V=0

::titttttttttitttttttttt"t!lttl'.ttttﬁitttt.tttit'tt.t."'.tt..'
:'ttﬁtttttttitttittttttttttttttilt'tttttﬁtt.tttQt't'.tittttttttt.

SCOPE

:SET FLAG -~ TEMP, WHICH INDICATES IF
*NEXT TEST IS TO BE EXECTED NEXT.
‘CHECK IF ~TEMP- IS SET
‘TEMP IS SET, GO TO NEXT TEST
SSET UP INSTRUCTION ARGUMENTS
*SOURCE LENGTH
*SOURCE ADDRESS
‘DESTINATION LENGTH
*DESTINATION ADDRESS
SFILL CHARACTER
*CLEAR DESTINATION
TORE PC OF TEST INSTRUCTION
CT  ;POINT TTY VECTOR TO INTERRUPT ROUTINE
SALLOW INTERRUPTS AFTER TTY INTERRUPT

ar$NULL ,aTBUF  ;SEND CARRIAGE RETURN

R5 ,XPSW
1"

#0
#100,3TCSR
PC,GENR

CCODES
#100,3TCSR

sSTORE EXPECTED PSW VALUE
;SET PSW TO ALLOW INTERRUPTS

sENABLE TTY INTERRUPTS
sSET UP GENERAL REGISTERS

sEXECUTE ‘MOVE CHARACTER''INSTRUCTION
:STORE THE PSW

:IF INTERRUPT ARE DISABLED, THE INSTRUCTION WAS NOT INTE
:BR & DO TEST AGAIN, IF INSTRUCTION WAS NOT INTERRUPTED

REPM(C ;
#177600,CCODES :CLEAR ALL UNUSED BET

64$
1

a#SAVR6, SP
65%
SP,@4BADR6

S
SFEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE

;BR, IF EQUAL

sennenennnenastsTEST 12 = ERROR 1etvasnnnenarene

:PSW ERROR
:EXPECTED PSW IS STORED AT 'EXPPSW'’
:ACTUAL PSW IS STORED AT ‘*CCODES'’

s CHECK RESULTS
swERJFY STACK POINTER IS RESTORED

:BR IF 0K
:STORE BAD SP VALUE

SEC 0031
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004046 104002

004050 005700
004052 001401
004054 104003

004056 005701
060 001401
004062 1046004

004064 005702
004066 001401
004070 104005

005703
001401
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001401
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®
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o
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08:4

174550

174542

174504
174476

176464
174454
174460

22-§AN-82 08:44 PAGE
T12

658%:

1$:

66%:

67%:

68$:

69%:

70%:

71%:
4(8:

T12€12:

5$:

33

TEST INTERRUPTABILITY OF *MOVC'' INSTRUCTION

ERROR

TST
ERROR

TST
BEQ
ERROR

TST
BEQ
ERROR

TST
BEQ
ERROR

MP
BEQ
ERROR

(0
BEQ
ERROR

MOV
TST8

8€Q
ERROR

2

R1
66%
4

R2

67%

5

R3

68%

)
FILL.RG
69%

TABLE ,R5
708
10

#BUF2,R0
#8UF2,R0
(RO) +
718

n

SRCAD ,R?
SRCLN,R
(RO)+,(R2)+
+

R
12

R1

T12E12
DSTLN.R1
SRCLN.R1
(RO)+,FILL
63

13

sunnansnansneeseTEST 12 = ERROR 2tvteenaneennnes

sSTACK POINTER NOT RESTORED BY INSTRUCTION
;EXPECTED VALUE OF SP_IS STORED AT '‘SAVR6'*
:ERRONEOUS VALUE IS AT ‘BADRS

;CHECK RO=ZERO

;tttttttttttttttTEST 12 = ERROR 3rennssnnsteanne
RO SHOULD BE 2ERO

:CHECK OTHER GENERAL REGISTERS

JTEST R1

;BR, IF ZERO

;OtﬁttttttttttttTEST 12 = ERROR 4eransnsannnnney
:R1 SHOULD BE ZERO

JTEST R2

;BR ]F 2ERO

:tttttttttttttttTEST 12 = ERROR Stretanasnnsstnne
;R2 SHOULD BE ZERO

:TEST R3

:BR, IF ZERO

senannnennnnesadTEST 12 = ERROR 6trarassasnnnanen

:R3 SHOULD BE ZERO

sCHECK R4 UNCHANGED

:BR IF 0K

cannnanenenecsteaJEST 12 = ERROR 7tssasanantnttey
:R4& SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FILL‘
:g:Eg% 32 UNCHANGED

sennnnannnnnaattTEST 12 = ERROR 10venvesaneaseene

;RS SHOULD STILL EQUAL CONTENTS OF LOCATION °‘TABLE'’

:POINT RO TO DESTINATION LOWER BYTE BOUNDARY
sTEST CONTENTS OF BOUNDARY

;BR, IF STILL 2ERO

sennnsannennnaesTEST 12 = ERROR 1]1eeneeeenncnnene
:LOWER BOUNDARY OF DESTINATION CHANGED

: SHOULD STILL EQUAL ZERO

:POINT R2 TO THE SOURCE ADDRESS

:STORE TRANSFER BYTE COUNT IN R1

:g:EEF 8:ARACTERS IN DESTINATION

Etttttttttttttt'TEST 12 = ERROR 12ttasannasasnane
:COMPARE ERROR IN DESTINATION

:RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER

;DECREMENT BYTE COUNT

:BR, IF NOT FINISHED CHECKING
CALCULATE THE NUMBER OF ‘FILL
:CHARACTERS THAT SHOULD APPEAR IN DEST.
SCHECK LSB'S OF DEST. FOR FILLS

:6R, IF EQUAL

cannnnnananssttaTEST 12 = ERROR 13tetnsesaracanes

“FILL'* ERROR IN DESTINATION

SEQ 0032
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JRAIN.  MACYTT 30(1046) 22'%AN°82 08:44 PAGE 34
8:4 T2

CVKAJ]B.P11 22=-JAN-82 0 TEST INTERRUPTABILITY OF ‘MOVC’'’ INSTRUCTION SEQ 0033
1724 006200 005301 68: DEC R1 :DECREMENT FILL COUNT
1725 004202 001372 BNE 5% :BR, IF NOT FINISHED
1726 004204 105720 T1ST8 (RO)+ :TE§T CONTENTS OF DEST. UPPER BOUNDARY
1727 004206 0014601 8EQ ENDT12 :BR, IF STILL ZERO
1728 004210 104014 ERROR 14 seneanasnsnnsetsTEST 12 = ERROR Téerrvaennanaetene
1729 :UPPER BOUNDARY OF DEST. CHANGED
1730 : SHOULD STILL EQUAL ZERO
1731 004212 ENDT12:
i
1734 004212 106427 300200 408: MTPS #200 :RESTORE PSW TO PRIORITY 7
};gg 004216 016777 1744446 174440 MOV TPSW,@TVECT :RESTORE TRAP CATCHER
1734
1739 :;tttt'ttttttttttttttttttttttttttttt.ttQt'..ttttt.tt.ltt'tttttttt
1740 :oTEST 13 TEST "MOVRC'® INSTRUCTION WITH SRCAD(LSB) .LT. DSTAD(LSB), SL .GT. DL
1741 ;;ttnttttttttttttttttttt'ttttttttttttttttttttcttnt'ttttnttttttttt
1742 :*PROPER TERMINATION FOR THIS INSTRUCTION TEST IS A
1743 :«TRUNCATED SOURCE REVERSE (MIGH ADDRESS) JUSTIFIED
1744 :«(WITH MOST SIGNIFICANT BYTES NOT MOVED) [N THE
1745 :«DESTINATION. RO EQUALS THE NUMBER OF UNMOVED SOURCE
};29 :!%lgig. R1-=->R3 EQUAL ZERO AND ALL CONDITION CODES
- n
1748 ;;'t!tttttttttﬁtttttttttttttttttttttttﬁtt'ttttttttt'ttttttttttttt
1749 JINARANAA AN AN E AR RN E AR NAANARNN AN IRAAAAERRARAARAAR AN RN
};g? 004224 000004 T57T13: SCOPE
1752 004226 0064567 010016 JSR RS,.PREP ;SET UP INSTRUCTION ARGUMENTS
1753 004232 000020 20 sSOURCE LENGTH
1754 004234 016310 BUF1 :SOURCE ADDRESS
1755 004236 000011 " :DESTINATION LENGTH
1756 004240 016711 BUF2+1 :DESTINATION ADDRESS
1757 004242 000377 377 sFILL CHARACTER
1758 004264 004767 010026 JSR PC,CLDST JCLEAR DESTINATION
1759 004250 004567 010070 JSR RS  XPSW ;STORE EXPECTED P_W VALUE
1760 004256 000200 .WORD 200
1761 004256 004767 007722 JSR PC.GENR :SET UP GENERAL REGISTERS
1762 004262 000277 SCC sSET ALL §0NDITION CODES .
1763 :EXECUTE ‘MOVE REVERSE CHARACTER
1764 004264 076031 MOVR(
1765 :CHECK RESULTS
1766 004266 004767 010076 JSR PC,C(KCC :CHECK PSW, GENERATE CONDITION CODES
17267 004272 001401 BEQ 648
1768 0042746 104001 ERROR 1 sanennannnanannaTEST 13 ~ ERROR 1ttstsasnnannnne
1769 ;PSW ERROR
1770 :EXPECTED PSW IS STORED A] 'tXPng“
1771 :ACTUAL PSW ]S STORED AT °‘CCODES
1772 004276 648:
1773 004276 023706 000676 CNP a#SAVRG ,SP JVERIFY STACK POINTER IS RESTORED
1774 004302 001403 BEQ 65% :BR IF 0K
1775 004304 010637 000700 MOV P,8#BADRS :STORE BAD SP VALUE
1776 004310 104002 ERROR cannenannannnnaaTEST 13 =« ERROR 2tatrtesannesnnen
1777 :STACK POINTER NOT RESTORED BY INSTRUCTION
1778 :EXPECTED VALUE OF SP IS STORED AT ''SAVRG'’

1779 ;ERRONEOUS VALUE IS AT 'BADRG'’
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CVKAIB.P1 22-JAN-82 TEST ‘MOVRC'' INSTRUCTION WITH SRCAD(LSB) .LT. DSTAD(LSB), SL .GT. DL SEQ 0034
1780 004312 65%:
1781 004312 026704 174336 (WP FILL,RG :CHECK R4 UNCHANGED
1782 004316 001601 BEQ 66$% :BR IF 0K
1783 004320 104003 ERROR 3 sannnnnennenneseTEST 13 = ERROR Jevevcnsnncntene
1784 sRé SHOULD STILL EQUAL CONTENTS OF LOCATION 'FILL'
1785 004322 026705 174330 66%: CMP TABLE ,RS :CHECK RS UNCHANGED
1786 004326 001401 BEQ 67% ;BR IF OK
1787 004330 104004 ERROR & sasneannasatdaneTEST 13 = ERROR 4tennennnetatade
1788 *RS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘TABLE‘’
1789 004332 67%:
1790 004332 016705 174306 MOV SRCLN,RS :CHECK RO=SOURCE LENGTM MINUS
1791 004336 166705 174306 suB DSTLM,RS : DESTINATION LENGTH
1792 00464342 020005 CMP RO,R5
1793 004344 001401 BEQ 688
1794 004346 104005 ERROR 5 sannnnnknnanacneTEST 13 = ERROR Settaneenanenene
1795 ;RO NOT EQUAL TO (SRCLN-DSTLN)
1796 004350 68$%: :CHECK OTHER GENERAL REGISTERS
1797 004350 005701 TST R1 JTEST R
1798 004352 001401 BEQ 69$ :BR, IF ZERO
1799 004354 104006 ERROR 6 ;tttttttttttttttffo 13 = ERROR 6tannenananttntn
1800 ;R1 SHOULD BE ZERO
1801 004356 005702 69%: TST R2 :TEST R2
1802 004360 001401 BEQ 708 :BR IF ZERO
1803 004362 104007 ERROR 7 sunnsansnnavanadTEST 13 - ERROR 7stntesnasasttet
1804 :R2 SHOULD BE ZERO
1805 004364 005703 708 : TST R3 :TEST R3
1806 004366 001401 BEQ 718 :BR, IF ZERO
1807 004370 104010 ERROR 10 sannnannnnanssssJEST 13 = ERROR 10teneeeaceanenee
1808 ;R3 SHOULD BE ZERO
1809 004372 718:
1810 :VERIFY DESTINATION AREA
1811 004372 012700 016710 MOV #BUF2.RO :POINT RO TO DESTINATION LOWER BYTE BOUNDARY
1812 004376 105720 TST8 (RO)+ :TEST CONTENTS OF BOUNDARY
1813 004400 001401 BEQ 728 :BR, IF STILL Z2ERO
1814 004402 104011 ERROR 11 cannannsnnteeaanTEST 13 = ERROR 11resseansesanense
1815 :LOWER BOUNDARY OF DESTINATION CHANGED
1816 : SHOULD STILL EQUAL 2ERO
1817 004404 728:
1818 004404 016702 174234 MoV SRCLN,R2 :CALCULATE ADDRESS OF MSB OF THE
1819 004410 166702 174234 suB DSTLN,R2 ; SOURCE TO BE MOVED
1820 0044146 066702 174226 ADD SRCAD,R?2
1821 004420 016701 174224 MOV DSTLN,R1 ;STORE TRANSFER BYTE COUNT IN R1
1822 004424 122022 T13612: CMPB (RO)+,(R2)+ ;CHECK CHARACTERS IN DESTINATION
1823 004426 001401 BEQ R :BR IF 0K
1824 004430 104012 EKRROR 12 sannnnnanannnaneTEST 13 = ERROR 12%nnernensncasny
1825 :COMPARE ERROR IN DESTINATION
1359 :RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
1828 004432 005301 DEC R1 :DECREMENT BYTE CCUNT
1829 004434 001373 BNE T13€12 :BR, IF NOT FINISHED CHECKING
1830 004436 105720 75718 (RO)+ ;TEST CONTENTS OF DEST. UPPER BOUNDARY
1831 004440 001401 BEQ ENDT13 :BR, IF STILL ZERO
1832 004442 104013 ERROR 13 sunnannnnanastsaaTEST 13 = ERROR 13nannnnennannene
1833 :UPPER BOUNDARY OF DEST. CHANGED
1834 : SHOULD STILL EQUAL ZERO
1835 004444 ENDT13:




LMAIN,
CVKAIB.P1

1836

—d b
o Lo To ]
LN%:U‘
Voo~

O ~NOWV S WIN = O

e 3333333333

ViAWV

oo
8u§8=§iocb\“hhﬂ&WNhr*<>(>

- el b D b e b ed b o b e e b i = e e D e d e d e D o nh =
WNRY =

ZEEER

QTR
WA= OO

ZREE
~NOVWn

BEREEEEIT

g

3

O

N LRRR pana
fUEg [« ¥ N1 N cﬁ§3=¥f

b b b mmb e ned b e b e b e b b and b e and =S ed d b

0000
O
b

MACY1 30(1046)
22=-JAN-8¢2

076031

004767
001401
104001

023706
001403
010637
104002

005700
001401
104003

005701
001401
104004

005702
001401

iAN-GZ 08:44

007576

007606
007650

007502

007654

000676
000700

PAGE 36

J 3

T13 TEST "MOVRC'' INSTRUCTION WITH SRCAD(LSB) .LT. DSTAD(LS8), SL .GT. DL SEQ 0035

lttttittﬁtttttttttt'ttt'ttttttttt.tttﬁttttttt"ttt't.'ﬁl.ﬁit."

TEST "MOVRC'® INSTRUCTION WITH SRCAD(LSB) .LT. DSTAD(LSB), DL .GT. SL

TR AR AR RNV AR ORI RN RE R T ERRAN NIRRT T ONE
tPROPER TERMINATION FOR THIS INSTRUCTION TEST IS A

*«TRANSFER OF ALL BYTES FROM SOURCE TO DESTINATION

S«AND "FILL'* CHARACTERS IN THE MSB OF THE DESTINATION,

:#(RO-->R3 EQUAL 2ERO, AND CONDITION CODES N,C=1 AND

tTEST 16

*Z v=0

'ttttttttttttttttttttttttttitttttttittﬁ.tttttttﬁtt.'!.'.i'.'.ﬁ'
ttttttﬁtttttﬁﬁtttittttttttttttttittiﬁtttt.it!ﬁ..iltﬁ.l'ﬁﬁttt.'t

IST14 SCOPE

JSR

JSR
JSR
- WORD
JSR

+CLN!CLC
+SEV!SEZ

MOVRC

JSR
BEQ
ERROR

648:

cMP
BEQ

ERROR

65%:

TST
BEQ
ERROR

18:

TST
BEQ
ERROR

66S$: TST

BEQ

R5,PREP
11

BUF1

20
BUF2+1
377
PC,CLDST
R5  XPSW

211
PC.GENR

PC,CKCC
648

@#SAVR6, SP
65%
gP.iﬂBADR6

sSET UP INSTRUCTION ARGUMENTS
s SOURCE LENGTH

: SOURCE ADDRESS

;DESTINATION LENGTH
:DESTINATION ADDRESS

;FILL CHARACTER

sCLEAR DESTINATION

;STORE EXPECTED PSW VALUE

sSET UP GENERAL REGISTERS
sCLEAR CONDITION CODES N&C
SE T CONDITION CODES V&Z
;EXECUTE "MOVE REVERSE CHARACTER''

sCHECK RESULTS
:CHECK PSW, GENERATE CONDITION CODES

cennnananaaettadTEST 14 = ERROR Tannnnansanannee
:PSW ERROR

;EXPECTED PSW IS STORED AT 'EXPPSW'’

;ACTUAL PSW ]S STORED AT *‘CCODES'’

gERIFYOETACK POINTER IS RESTORED
:STORE BAD SP VALUE

ttittttttittttthST 14 = ERROR 2tastansnasennnt
:STACK POINTER NOT RESTORED BY INSTRUCTION
SEXPECTED VALUE OF SP 1S STORED AT ‘‘SAVR6''
;ERRONEOUS VALUE IS AT "BADR6'

CHECK RO= ZERO
F ZERO

tttttttttttttttTEST 14 = ERROR 3venannnnnntinny

;RO _SHOULD BE 25RO
ngCKR?THER GENERAL REGISTERS

:BR, IF ZERO
sannnnnnnnnnnantsTEST 14 = ERROR 4ervnnnnnennnnny

:R1_ShoULD BE ZERO
:TEST R
:BR IF ZERO
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CVKAIB.P1 22=JAN=-82 08:43 T14 TEST ‘MOVRC'® INSTRUCTION WITH SRCAD(LSB) .LT. DSTAD(LSB), DL .GT. SL SEQ 0036
1892 004554 104005 ERROR 5 ;enneneanaesneneTEST 14 = ERROR Stveeerteeeneens
1893 RZ SHOULD BE ZERO
1894 004556 005703 678: TST R3 TEST R3
1895 004560 001401 BEQ 68$% BR IF ZERO
1896 004562 104006 ERROR 6 tttttttttttt-ttrEsr 14 = ERROR Ottntansnnannnns
1897 *R3 SHOULD BE ZERO
1898 004564 688%:

1899 004564 026704 174064 CMP FILL.RG ;CHECK R4 UNCHANGED

1900 004570 001401 BEQ 69% :BR IF OK

1901 004572 104007 ERROR 7 snnnnanansnnstsaTEST 14 = ERROR 7ensnnesnatenener
1902 R4 SHOULD STILL EQUAL CONTENTS OF LOCATION 'FILL'
1903 004574 026705 174056 698: cMP TABLE RS ;CHECK RS UNCHANGED

1904 004600 001401 BEQ 708 :BR IF 0K

1905 004602 104010 ERROR 10 sannnnnnnennanssdTEST 14 = ERROR 10veennnnennnnnen
1906 RS SHOULD STILL EQUAL CONTENTS OF LOCATION °‘TABLE''
1907 004604 70%:

1908 004604 012700 016710 MOV #BUF2 RO JPOINT RO TO DESTINATION LOUER BYTE BOUNDARY

1909 004610 105720 TST8 {RO) + ;TEST CONTENTS OF BOUNDAR

1910 004612 001401 BEQ 718 BR IF STILL Z2ERQ

1911 0064616 104011 ERROR 11 ttﬁ*tttttt-ttttrssr 14 = ERROR 11rasnasesnnnaney
1912 LOHER BOUNDARY OF DESTINATION CHANGED

1913 : SHOULD STILL EQUAL Z2ERO

1914 004616 718:

1915 004616 016702 174026 MOV DSTIN,R2 :CALCULATE THE NUMBER OF "FILL'’

1916 004622 166702 174016 sus SRCLN,RZ2 : CHARACTERS THAT SHOULD APPEAR IN DEST.

1917 004626 010201 MoV R2 .R1 :STORE TRANSFER BYTE COUNT IN

1918 004630 122067 174020 T14E12: (MPB (R6)+ FILL :CHECK CHARACTERS IN DEST!NATION

1919 004634 001401 BEQ BR IF 0K

1920 004¢36 104012 ERROR 12 shannnnnnnansdtsTEST 14 = ERROR T2ennnnannnnnanes
1921 COHPARE ERROR IN DESTINATION

}g%% RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
1924 004640 005301 DEC R1 :DECREMENT BYTE COUNT

1925 004642 001372 BNE T14E12 BR IF NOT FINISHED CHECKING

1926 004644 016702 173776 MOV SRCAD ,R2 POINT R2 TO SOURCE STRING

1927 004650 016701 173770 MOV SRCLN,R? *STORE TRANSFER BYTE COUNT IN R1

1928 0046546 122022 T14E13: (MP8 (RO)+,(R2)+ CHECK CHARACTERS IN DESTINATION

1929 004656 001401 BEQ +4 ‘BR IF OK

1930 004660 104013 ERROR 13 cansanansassesnsTEST 14 = ERROR 13aanennanenennee
1931 COHPARE ERROR IN DESTINATION

}3%% RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
19346 004662 005301 DEC R1 DECREHENT BYTE COUNT

1935 004664 001373 BNE T14E13 IF NOT FINISHED CHECKING

1936 0046666 105720 TSTB (RO + m‘.r CONTENTS OF DEST. UPPER BOUNDARY

1937 004670 001401 BEQ ENDT14 “BR, IF STILL ZERO

1938 004672 1064014 ERROR 14 *t'tttttttt*tttIEST 14 = ERROR 14tnsanasnnannnnn
1939 *UPPER BOUNDARY OF DEST. CMANGED

1940 : SHOULD STILL EQUAL ZERO

1941 004674 ENDT14:

19:

191.6 ittttttttt!tlttttttttt'tttttttttttttttttttttttttttttttttttttttt

1945 tIESI 15 TEST "MOVRC' WITH DSTAD(LS8) .LT. SRCAD(LSB), SL .GT. DL, (TRUNCATED)
19[.6 Ittttttttttttttttlttttttt'tttttttttttttttttttttttttttttt'tttttt

1947 -nus TEST CHECKS "MOVE REVERSE'® WHEN THE LEAST SIGNIFICANT
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CVKAIB.P11 22~JAN-82 08:43 T15 TEST 'MOVRC''* WITH DSTAD(LSB) .LT. SRCAD(LSB), SL .GT. DL, (TRUNCATED)

:«BYTE OF THE SOURCE IS HIGHER IN MEMORY THAN THE OESTINATION LSB

£2
oo

9 'AND THE TRANSFER IS TRUNCATED.
1950 'THE RESULT IS THE MOST SIGNIFICANT BYTES ARE TRUNCATED, RO = THE
1951 'NUHBER OF BYTES TRUNCATED, R1=-=>R3 EQUAL ZERO, AND ALL
1952 'CONDITION CODES CLEAR.
1953 . AN AR AN NN AAR A AN E AN E A AN AR RN RAREA RN RRARNAACA AN RRRAAAR
1954 SRR AN AN AN AR AN TP R T ENR RN AN O RN ANANAATEARATARAAARARARNANE
1955 004674 000004 TST1S SCOPE
1956 004676 004567 007346 JSR RS,PREP :SET UP INSTRUCTION ARGUMENTS
1957 004702 000020 20 SOURCE LENGTH
1958 004704 016730 BUF2+20 SOURCE ADDRESS
1959 004706 000007 7 DESTINATION LENGTH
1960 004710 016711 BUF2+1 DESTINATION ADDRESS
1961 004712 000377 377 FILL CHARACTER
1962 004714 004767 007356 JSR PC,CLDST CLEAR DESTINATION AREA
1963 004720 004567 007400 JSR RS.GENSRC GENERATE A SOURCE STRING
1964 004726 000020 LWORD 20
1965 004726 016730 WORD BUF2+20
1966 004730 004567 007410 JSR RS  XPSW :STORE EXPECTED PSW VALUE
1967 004734 000200 _WORD 200
1968 004736 004767 007242 JSR PC.GENR :SET UP GENERAL REGISTERS
}ggg 004742 000277 SCC SET ALL CONDITION CODES
13;5 004744 076031 MOVR(C sEXECUTE 'MOVE REVERSE CHARACTER'' INSTRUCTION
1973 004746 004767 007416 JSR PC,CKCC :CHECK PSW, GENERATE CONDITION CODES
1974 004752 001401 BEQ 648
1975 004756 104001 ERROR 1 sannnnsanaaateaaTEST 15 « ERROR 1aweasnanaevnnns
1976 PSU ERROR
1977 EXPECTED PSW IS STORED AT 'EXPPSN"
1978 ACTUAL PSW IS STORED AT °'°CCODES
1979 004756 64%:
1980 004756 023706 000676 CMP a#SAVR6,SP VERIFY STACK POINTER IS RESTORED
1981 004762 001403 BEQ 65% BR F 0K
1982 004764 010637 000700 MLV SP,aBADRG STORE BAD SP VALUE
1983 004770 104002 ERROR 2 **'***********'TEST 15 = ERROR 2tteannnutunnsunse
1984 STACK POINTER NOT RESTORED BY INSTRUCTION
1985 EXPECTED VALUE OF SP I§ STORED AT '‘SAVR6"'
1986 ERRONEOUS VALUE IS AT ‘BADR6’’
1987 004772 65$:
1988 004772 026704 173656 CMP FILL,.RG :CHECK R4 UNCHANGED
1989 004776 0014601 BEQ 66% BR IF 0K
1990 005000 1904003 ERROR 3 tttttttttttttttIEST 1S = ERROR sttttttttltttttt
19%1 R4 SHOULD STILL EQUAL CONTENTS OF LOCATION °FILL"
1992 005002 026705 173650 66S$: (MpP TABLE RS CHECK RS UNCHANGED
1993 005006 001401 BEQ 67% :BR IF 0K
1994 005010 104004 ERROR 4 tttttttttttttttTEST 15 -~ ERROR 4ttttttttttttttt
1995 RS SHOULD STILL EQUAL CONTENTS OF LOCATION '‘TABLE''
1996 005012 67$:
1997 005012 016705 173626 MOV SRCLN.RS :CHECK RO=SOURCE LENGTH MINUS
1998 005016 166705 173626 Sus DSTLN RS : DESTINATION LENGTH
1999 005022 020005 CMP
2000 005024 001401 BEQ 6£
2001 005026 104005 ERROR 5 sennnnannnannnasTEST 15 = ERROR Setnnsnnnenvnnne
2002 RO NOT EQUAL 7O (SRCLN=-DSTLN)
2003 005030 68$: CHECK OTHER GENERAL REGISTERS

SEQ 0037
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CVKAIB.P11 22-JAN-82 08:43 T15 TEST 'MOVR('* WITH DSTAD(LSB) .LT. SRCAD(LSB), SL .GT. DL, (TRUNCATED) SEQ 0038
2004 C05030 005701 TST RY ;TEST R1
2005 005032 001401 BEQ 69% :BR, IF ZERO
2006 005034 104006 ERROR 6 sannnnnnnnnnenaaTEST 15 = ERROR Grensnsannenenne
2007 :R1 SHOULD BE ZERO
2008 005036 005702 69$: TST R2 :TEST R2
2009 005040 001401 BEQ 708 :BR IF ZERO
2010 005042 104007 ERROR 7 iannnnnnnnnsnaesTEST 15 - ERROR 7weensnanensense
2011 R2 SHOULD BE ZERO
2012 005044 005703 708: TST R3 R3
2013 005046 001401 8EQ 713 BR IF ZERO
2014 005050 104010 ERROR 10 sasksnennnnasasaTEST 15 = ERROR 10tnsenenannenene
2015 :R3 SHOULD BE ZERO
2016 005052 713:
2017 sVERIFY DESTINATION AREA
2018 005052 012700 016710 MOV #8UF2,R0 *POINT RO TO DESTINATION LOHER BYTE BOUNDARY
2019 005056 105720 1ST8 (RO) + sTEST CONTENTS OF BOUNDAR
2020 005060 001401 BEQ 72% :BR, IF STILL ZERO
2021 005062 104011 ERROR 11 sanknnnnanaastaxTEST 15 = ERROR 11tenensnennnanns
2022 *LOWER BOUNDARY OF DESTINATION CHANGED
2023 . : SHOULD STILL EQUAL ZERO
2024 005064 7¢8:
2025 005064 016702 173554 MOV SR(LN,R2 :CALCULATE ADDRESS OF MSB OF
2026 005070 166702 173554 sSuB DS LN.R2 :  THE SOURCE TO BE MOVED
2027 005074 066702 173546 ADD SR(AD,RZ
2028 005100 016701 173544 MOV DSTLN,R1 :STORE TRANSFER BYTE COUNT IN R1
2029 005104 122022 T15612: CMPB (RO +,(R2)+ ;CHECK CHARACTERS IN DESTINATION
2030 005106 001401 BEQ +4 :BR IF OK
2031 005110 104012 ERROR 12 sanannnaeaantaaaTEST 15 = ERROR 12¢sasnnannansene
2032 ;COMPARE ERROR IN DESTINATION
%8%2 *RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
2035 005112 005301 DEC R1 sDECREMENT BYTE COUNT
2036 005114 001373 BNE T15612 :BR, IF NOT FINISHED CHECKING
2037 005116 105720 T1ST8 (RO)+ TEST CONTENTS OF DEST. UPPER BOUNDARY
2038 005120 001401 BEQ ENDI15 :BR, IF STILL ZERO
2039 005122 104013 ERROR 13 iessnananenasaesaTEST 15 = ERROR 13twsewsnsenennee
2040 <UPPER BOUNDARY OF DEST. CHANGED
2041 : SHOULD STILL EQUAL ZERO
2042 005124 ENDT15:
2043
2044
2045
2046 SERERAARNARRAREAARARARCENRRRANRAANARANACAARAAACAERRRERNRRARARANS
2047 tTEST 16 TEST 'MOVRC'® WITH DSTAD(LSB) .LT. SRCAD{(LSB) & SRCLN .GT. DSTLN, (FILL)
2048 AR AN ANAAREANARN I N RERRARAANRANARARARAANRARRARARRRARAAAARS
2049 “%THIS TEST CHECKS 'MOVE REVERSE'' WHEN THE LEAST SIGNIFICANT
2050 <+BYTE OF THE SOURCE IS HIGHER IN MEMORY THAN THE DESTINATION LSB
2051 *®AND ALL BYTES ARE TRANSFERED.
2052 “«THE RESULT IS THE MSB OF THE DESTINSTION ARE FILLS. RO==>R3 EQUAL
2053 tZERO AND CONDITION COOES N,C=1 & Z,v=0.
2054 ttttttt!ttttttttttttttttttttttttttttttttttttttttttﬁtttttttttttt
2055 tttttttattttttttttttttttttttttttttttttttttttttttttttttttttttttt
2056 005124 000004 7§T16:  SCOPE
2057 005126 004567 007116 JSR RS ,PREP ;SET UP INSTRUCTION ARGUMENTS
2058 005132 000010 10 :SOURCE LENGTH
2059 005134 016730 BUF2+20 :SOURCE ADDRESS
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CVKAIB.P11 22-JAN-82 08:43 T16 TEST "MOVYRC'* JITH DSTAD(LSB) .LT. SRCAD(LSB) & SRCLN .GT. DSTLN, (FILL) SEQ 0039
2060 005136 000015 15 :DESTINATION LENGTH
2061 005140 016711 BUF2+1 DESTINATION ADDRESS
2062 005142 000377 377 FILL CHARACTER
2063 005144 004767 007126 JSR PC,CLDST CLEAR DESTINATION AREA
2064 005150 004567 007150 JSR R5 G NSRC GENERATE SOURCE STRING
2065 005154 000010 .WORD 10°
2066 005156 016730 LWORD BUF2+20
2067 005160 004567 007160 JSR RS XPSW :STORE EXPECTED PSW VALUE
2068 005164 000211 WORD 211
2069 005166 004767 007012 JSR PC GENR :SET UP GENERAL REGISTERS
2070 005172 000251 +CLN!CLC
58;} 005174 000266 +SEV!SEZ
%8;2 005176 076031 MOVRC :EXECUTE ‘MOVE REVERSE CHARACTER''
2075 005200 004767 007164 JSR PC, -KCC ;CHECK PSW, GENERATE CONDITION CODES
2076 005204 001401 B8EQ €4S
2077 005206 104001 ERROR 1 sannnnnannenkeesTEST 16 = ERROR Tannnnsancennany
2078 PSH ERROR
2079 EXPECTED PSW IS STORED AT "EXPP.S.H"
2080 ACTUAL PSW IS STORED AT °‘’CCODES
2081 005210 648:
2082 005210 023706 000676 CMP a#SAVRG,SP sVERJFY STACK POINTER 1S RESTORED
2083 005214 001403 BEQ 65% BR IF 0K
2084 005216 010637 000700 MOV SP,a#BADR6 ;STORE BAD SP VALUE
2085 005222 104002 ERROR 2 sannnsnnnananasaTEST 16 - ERROR 2enawnsasnnnnnns
2086 STACK POINTER NOT RESTORED BY INSTRUCTION
2087 EXPECTED VALUE OF SP I§ STORED AT '‘SAVR6''
2088 ERRONEOUS VALUE IS AT ‘BADRé"’
2089 005224 65$:
2090 005224 005700 TST RO
2091 005226 001401 BEQ 3s
2092 005230 104003 ERROR 3 sannannrnnenetanaTEST 16 = ERROR Jnnntnannananens
2093 RO SHOULD BE ZERO
2094 005232 3s:
2095 005232 005701 18T R1 :TEST R1
2096 005234 001401 BEQ 66$ BR IF ZERO
2097 005236 104004 ERROR 4 tttttttttttltttTEST 16 = ERROR 4rnansanntensent
2098 ) RT SHOULD BE ZERO
2099 005240 005702 66$: TST R? STEST R2
2100 005242 001401 BEQ €78 *BR IF ZERO
2101 005244 104005 ERROR ) sunnnannnnanaastTEST 16 = ERROR Sevtnnnnananseny
2102 R2 SHOULD BE ZERO
2103 005246 005703 67%: TST R3 TEST R3
2104 005250 001401 8EQ A8% BR. IF ZERO
2105 005252 104006 ERROR ) sennnennnnennnttTEST 16 = ERROR Orevevnsnennnens
2106 RS SHOULD BE ZERO
2107 005254 68$:
2108 005256 026704 173374 CMP FILL,RG :CHECK R4 UNCHANGED
2109 005260 001401 BEQ ?95 .BR IF 0K
2110 005262 104007 ERROR sennnsananensesaTEST 16 - ERROR 7nnnntnnu
21 Rlo SHOU D STILL EQUAL CONTENTS OF LOCATION 'FILL'
2112 005264 026705 173366 698 : CMP TABLE ,RS *CHECK RS UNCHANGED
2113 005270 001401 BEQ 708 .BR IF 0K
2114 005272 104010 ERROR 10 censannnsnnentveTEST 16 = ERROR 10eransncannetnne
2115 RS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘TABLE'’

2 a
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fUYKAIB.P11Y 22-JAN=-82 08:4 16 TEST "MOVRC'' WITH DSTAD(LSB) .LT. SRCAD(LSB) & SRCLN .GT. DSTLN, (FILL) SEQ 0040
2116 005274 7(8:
2117 005274 012700 016710 MOV #8UF2,R0 :POINT RO TO DESTINATION LOWER BYTE BOUNDARY
2118 005300 105720 TST8 (RO)+ :TEST CONTENTS OF BOUNDARY
2119 005302 001401 BEQ 718 :BR, IF STILL ZERO
2120 005304 104011 ERROR 11 suevnanesnanatete[EST 16 = ERROR 11vtvannnnannevne
2121 :LOWER BOUNDARY OF DESTINATION CHANGED
2122 : SHOULD STILL EQUAL ZERO
2123 005306 718: o
2124 005306 016702 173336 MOV DSTLN.R2 sCALCULATE "FILL'' COUNT
2125 005312 166702 173326 sSuB SRCLN,R?
2126 005316 010201 MOV R2 R1 :STORE TRANSFER BYTE COUNT IN R1
2127 005320 122067 173330 T16E12: CMPB (Rb)*.FILL :CHECK CHARACTERS IN DESTINATION
2128 0053264 001401 BEQ R sBR IF 0K
2129 005326 104012 ERROR 12 sunansnaannnananeTEST 16 = ERROR 12ttnntnnntennees
2130 :COMPARE ERROR IN DESTINATION
%}g; RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
2133 005330 005301 DEC R1 :DECREMENT BYTE COUNT
21346 005332 001372 BNE T16E12 :BR, IF NOT FINISHED CHECKING
2135 005334 016702 173306 MOV SRCAD ,R2
2136 005340 016701 173300 MOV SRCLN,R1 :STORE TRANSFER BYTE COUNT IN R1
2137 005344 122022 T16E13: CMPB (RO)+,(R2)+ JCHECK CHARACTERS IN DESTINATION
2138 005346 001401 BEQ .+ ;BR IF 0K
2139 005350 104013 ERROR 13 suenannennannadensTEST 16 = ERROR 13evtenneneenanny
2140 ;COMPARE ERROR IN DESTINATION
%}2% :RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER
2143 005352 005301 DEC R1 :DECREMENT BYTE COUNT
2144 005354 001373 BNE T16E13 :BR, IF NOT FINISHED CHECKING
2145 005356 105720 1ST8B (RO)+ :TEST CONTENTS OF DEST. UPPER BOUNDARY
2146 005360 001401 BEQ ENDT16 JBR, IF STILL ZERO
2147 005362 104014 ERROR 14 senvenntanaanadtTEST 16 = ERROR 14ennnnannananens
2148 :UPPER BOUNDARY OF DEST. CHANG™D
2149 s SHOULD STILL EQUAL ZERO
2150 005364 ENDT16:
2151
2152
A
2155 IIANARRARAARANARRAANRRAR RN ARRARARCAARAEAAAAANANCAANAARACARRAREAS
2156 :eTEST 17 TEST INTERRUPTABILITY OF 'MOVRC'’ INSTRUCTION
2157 JINANRRAARRANARAANNRARRRRAAANRAAAARAARAARAAREAAARACRRRRARANRNNRAN
2158 :*THIS TEST INTERRUPTS THE EXECUTION OF THE °‘MOVRC''
2159 :*INSTRUCTION, RESUMES THE INSTRUCTION AFTER THE
2160 :*INTERRUPT, AND VERIFIES THE RESULTS. THE PROPER
2161 s*RESULT 1S ALL BYTES MOVED TO THE DESTINATION
2162 :*R0O-=->R3 EQUAL ZERO, AND CONDITION CODES N,C=
2163 s*AND Z2,v=0.
2164 JINNNAARNNRARNAARNNRARRRC AR ER AR CRAANAANRANNAEARGOANREERRRRARERARD
2165 SCARAARAAAANEAANEARINRAR R TER R ANRRRNRAARAANRANAAEARAEARATANRERNRRS
2166 005364 000004 tst17:  scope
2167 005366 004767 007020 JSR PC,SKPINT :SET FLAG == TEMP, WHICH INDICATES IF
2168 JNEXT TEST IS TO BE EXECTED NEXT.
2169 005372 005767 173306 TSY TEMP JCHECK IF -TEMP- IS SET
2170 005376 001156 BNE TST20 ;TEMP ]S SET, GO TO NEXT TEST
2171 005400 004567 006644 JSR RS ,PREP *SET UP INSTRUCTION ARGUMENTS
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005512
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005524
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005544
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000374
016310
000376
016711
000377
004767
012767
012777
005077

076031

106767
032777
001363
042767
023767
001401
104001

023706
001403
010637
104002

005700
001401
104003

005701
001401
104004

005702
001401
104005
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006654
005510
014506
173224
007014
000554
006664

000000
000100

006504
000676

173154
000100

177400
000674

000676
000700

173164

173134

173136
173130

REPMRC:

MRC:

64$:

65$:

1$:

66$:

67%:

C ¢4

TEST INTERRUPTABILITY OF "MOVRC'® INSTRUCTION

JR

CMP
BEQ
MOV
ERROR

TST
ERROR
TST
BEQ
ERROR
TST
ERROR
TST

374
BUF1
376
BgFZ*T

#MAC PCI
#INTR,STVECT
aTPSW
PC,TDONE
as$NULL ,aTBUF
?3 ,XPSW

#0
#100,8TCSR
PC,GENR
SP,a#SAVR6

CCODES
#100,3TCSR
REPMR(
#177400,CCODES
gngPPSU.CCODES

S#SAVR6, SP
65$
gP.i#BADRb

W=
»o

O b
w

wiohD &SHOND
L

s SOURCE LENGTH

: SOURCE ADDRESS

:DESTINATION LENGTH

:DESTINATION ADDRESS

;FILL CHARACTER

;CLEAR DESTINATION

:STORE PC OF TEST INSTRUCTION

:POINT TTY VECTOR TO INTERRUPT ROUTINE
;ALLOW INTERRUPTS AFTER TTY INTERRUPT

:SEND CARRIAGE RETURN
:STORE EXPECTED PSW VALUE

;SET PSW TO ALLOW INTERRUPTS

:ENABLE TTY INTERRUPTS

;SET UP GENERAL REGISTERS

:COPY STACK POINTER BEFORE INSTRUCTION EXECUTION
sCLEAR CONDITION CODES N&C
:CLEAR CONDITION CODES V&Z

;EXECUTE 'MOVE REVERSE CHARACTER'
:STORE THE PSW

SEQ 0041

:IF INTERRUPT ARE DISABLED, THE INSTRUCTION WAS NOT INTE
:BR & DO TEST AGAIN, IF INSTRUCTION WAS NOT INTERRUPTED

;CLEAR ALL UNUSED BI S

CHECK PSW AGAINST EXPECTED VALUE

;:BR, IF EQUAL

ttttttttttttittTEST 17 = ERROR 1trerannanattens
PSH ERROR

EXPECTED PSW IS STORED AT ‘EXPPSW'’

ACTUAL PSW IS STORED AT ‘°CCODES'’

sCHECK RESULTS
:VERIFY STACK POINTER IS RESTORED

BR IF 0K

:STORE BAD SP VALUE

ttttttttttttttlTEST 17 = ERROR 2t sasantntttttts
STACK POINTER NOT RESTORED BY INSTRUCTION
EXPECTED VALUE OF SP IS STORED AT '‘SAVR6"’
ERRONEOUS VALUE IS AT 'BADR6’

s CHECK RO=ZERO

seennenananansneJEST 17 = ERROR 3trtsnnsasanasass
RO SHOULD BE ZERO

CHECK OTHER GENERAL REGISTERS

TEST R1

BR IF ZERO

tttttltttttttt'TESI 17 = ERROR 4ansanasnnsataet

:R1_SHOULD BE ZERO
TEST R2
:BR IF ZERO

tt!tttttt!tttttTEST 17 = ERROR Sttnnnsasnareane

:R2 SHOULD BE 2ERO
;TEST R3




hﬂUNHUAﬂU&“:Cfv
SLERRUKZS

PININININIAINININI PN
W
O

MACYT 30(1046)

PN

005606
005610

22~JAN-82

001401
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173036

173030

016710

173000
172770

172772

000200
172734

172730

TEST INTERRUPTABILITY OF 'MOVRC'' INSTRUCTION SEQ 0042

;BR, IF ZERO

tttltttttttttttTEST 17 = ERROR 6trteanssnnnntne

:R3 SHOULD BE 2ERO

g:EEK R& UNCHANGED

ttttttttttttttttfsr 17 = ERROR 7tenesasasnnnnee
*R4 SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FILL'
ggE§§ 32 UNCHANGED

sunnananennneansTEST 17 - ERROR 10eeesvansnssttan
*RS SHOULD STILL EQUAL CONTENTS OF LOCATION °‘TABLE''

:POINT RO TO DESTINATION LOWER BYTE BOUNDARY
;TEST CONTENTS OF BOUNDARY
:BR. IF STILL ZERO

ttttttttttttntaTEST 17 = ERROR 11etastnsnanntnee
LOUER BOUNDARY OF DESTINATION CHANGED
: SHOULD STILL EQUAL ZERO

sCALCULATE THE NUMBER OF FILL
CHARACTERS THAT SHOULD APPEAR IN DEST.

R2.R1 . STORE TRANSFER BYTE COUNT IN RI

BEQ 68$
ERROR 6

68$:
cMP FILL.RG
BEQ 698
ERROR 7

698:  CMP TABLE.RS
BEQ 708
ERROR 10

70%:
MOV #BUF 2RO
TSTB  (RO)+
BEQ 718
ERROR 11

71%:
MOV DSTLN,R2
SUB SRCUN.R2
MOV

TI7E12: CMPB (Rb)o FILL
BEQ
ERROR 12
DEC R1
BNE T17€E12
MOV SRCAD,R2
MOV SRCLN.R1

TE13: CMPB (R0)+ (R2) +
BEQ .+
ERROR 13
DEC R1
BNE TE13
TSTB  (RO)+
BEQ ENDT17
ERROR 14

ENDT17:

L08:  MTPS #4200
MOV TPSW,aTVECT

ggfgg SEARACTERS IN DESTINATION

tttttttttttttttTEST 17 = ERROR 12tvtnnsanasdunny
COHPARE ERROR IN DESTINATION

RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER

:DECREMENT BYTE COUNT

BR IF NOT FINISHED CHECKING

POINT R2 TO SOURCE STRING

STORE TRANSFER BYTE COUNT IN R1

g:E§§ SEARACTERS IN DESTINATION

tttttttttttttttTEST 17 = ERROR 13atannsananssane
COHPARE ERROR IN DESTINATION

RO CONTAINS THE PC+1 OF THE BAD DESTINATION CHARACTER

DECREHENT BYTE COUNT
IF NOT FINISHED CHECKING
re§r CONTENTS OF DEST. UPPER BOUNDARY
BR IF STILL ZERO
tttttttttttttttTEST 17 = ERROR 14trennnassnnnnnnt
UPPER BOUNDARY OF DEST. CHANGED
: SHOULD STILL EQUAL ZERO

;RESTORE PSW TO PRIORITY 7
:RESTORE TRAP CATCHER

tt.t*titttttttt'ttt't*ttttitttttttttt.t.tl"ﬁ.'Q.tttt'tit.'titt

TEST *'CMPC'* WITH SOURCE1 & SOURCE2 LENGTHS = 0

ttttttttitt.tttttt.t'tt'i"tﬁiti*tttttiiitttttttttﬁl'.'t!t'ﬁlt.

tTHIS TEST VERIFIES THAT '‘COMPARE CHARACTER' INDICATES EQUAL

tTEST 20
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000244
076044

004767
001401
104001

023706
001403
010637
104002

026700
001401
104003

026701
001401
104004

006306

006364
006216

006370

000676

000700

172620

172612

172604

172576

172570
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;*STRINGS WITH SOURCE
;*THE RESULT IS RO==>R

E &

44
TEST *'CMPC'* WITH SOURCE1 & SOURCE2 LENGTHS = 0

'CODES CLEAR EXCEPT Z=1.

ttttt*tttitttttttttttt't"t'iit.ﬁ'ttttt.tt.t"ttttiitttttt'tttt
tﬁttttﬁttﬁitttitttttttttt'ttittttt.ttlttltttttﬁttt't'ititttt.tt

TSTZO

648:

65%:

1$:

2$:

3s:

48:

SCOPE
JSR

JSR
-WORD
JSR
SCC
Lz

CMPC

JSR
BEQ
ERROR

CMP
8EQ

MOV
ERROR

CMP
BEQ
ERROR

Hp
BEQ
ERROR

CMP
BEQ
ERROR

CMP
BEQ
ERROR

CMP
BEQ
ERROR

SS.PREP
NXM

0

NXM

377

RS ,XPSW
204
PC,GENR

PC,CKCC
! 648

S#SAVR6 , SP
65%
3P.3#BADR6

SRCLN,RO
1$

SRCAD ,R1
23

4
DSTLN.R2
3s

DSTAD,R3
23

FILL.R4
$

ENGTHS EQUAL TO ZERO.
ARE UNCHANGED, AND ALL CONDITION

sSET UP INSTRUCTION ARGUMENTS
:SOURCEY LENGTH

;SOURCE1 ADDRESS

:SOURCE2 LENGTH

:SOURCE2 ADDRESS

;FILL CHARACTER

sSET UP GENERAL REGISTERS
:SET ALL CONDITION CODES, EXCEPT
:CLEAR 7

sEXECUTE ''CMPC'' INSTRUCTION
sCHECK PSW, GENERATE CONDITION CODES

sansnannnnsanaasTEST 20 = ERROR 1enenessnsnnnnnn
;:PSW _ERROR

;EXPECTED PSW IS STORED AT ‘EXPPSW'’

;ACTUAL PSW IS STORED AT '‘CCODES'’

gsﬂ{FVOEYACK POINTER 1S RESTORED
;STORE BAD SP VALUE

tttttttttttttttTESI 20 = ERROR 2ttt eantsnennt
:STACK POINTER NOT RESTORED BY INSTRUCTION
;EXPECTED VALUE OF SP 1S STORED AT '‘SAVRé'
;ERRONEOUS VALUE IS AT ‘BADR6"

;CHECK RO UNCHANGED

sunnncannnannnndTEST 20 = ERROR Jrenensennasnnan

:SRC1 LENGTH ERROR
:CHECK R1 UNCHANGED

cannnnnnnnenasatTEST 20 « ERROR 4Lrnrennsnntannne

;SRC1 ADDRESS ERROR
;CHECK R2 UNCMANGED

sennnanannnnassaTEST 20 = ERROR Svantanawenanene

:SRC2 LENGTH ERROR
;CHECK R3 UNCHANGED

sennnnnnnannsettTEST 20 ~ ERROR revcennnenninne

:SRC2 ADDRESS ERROR

;CHECK R& UNCHANGED
;8R IF 0K

sannannnnnenansaTEST 20 - ERROR 7ventnenaneanene

:R4 SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FILL'

SEQ 0043
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172562

006142

016710
177777

006206
006040

006214

000676
000700

172440

F &

TEST "'CMPC'* WITH SOURCE1 € SOURCE2 LENGTHS = 0 SEQ 0044
66$: CMP TABLE ,R5 ;CHECK R5 UNCHANGED

BEQ 67% ;BR IF 0K

ERROR 10 satnsenennannnneTEST 20 = ERROR 10veetnannenetnee

675 ;RS SHOULD STILL EQUAL CONTENTS OF LOCATION '‘TABLE®’

':ttﬁttttﬁtttitt'ttttttttttttttﬁt'tt"ttt"ttt'ﬁl't.i"it.ttlttt.

S*TEST 21 TEST *'CMPC'* WITH SOURCE1 LENGTH=0 & A NON-FILL CHARACTER IN SRC2

AN NNANANANRARNRNAN RN EEANRAAARARNRARACANAREAARNNNAAANRARANCNRES

;#THIS TEST VERIFIES THAT "'CMPC’' COMPARES SOURCE2 WITH THE FILL
s*CHARACTER WHEN SOURCE1 LENGTH IS ZERO.

:*THE RESULY IS RO=0, R1 IS UNCHANGED, R2 EQUALS THE LENGTH
;*OF SOURCE2 SUB-STRING, R3 EQUALS THE POINTER TO SOUR(E2
;*SUB=STRING, AND ALL CONDITION CODES CLEAR EXCEPT N=1.

:;titttttttttttittttt.'tt"tttittt"Qt'ﬁt.ttt.l'ttttt*ttttt'itttt
r e ANRNRRN AR AR A AR RANREN AR A ANRARNR AR RAAAAAAARNRAN AN AR RS AR ATRARNCSY

t8§121: scoPe

JSR RS.PREP :SET UP INSTRUCTION ARGUMENTS
0 :SOURCE1 LENGTH
NXM :SOURCE1 ADDRESS
4 :SOURCE2 LENGTH
BUF2 :SOURCE2 ADDRESS
377 sFILL CHARACTER
Mov #BUF2 RO :GENERATE SOURCEZ2 STRING STARTING
MOV #177777,(RO)+  :WITH TWO FILL BYTES
CLR (RO)+ ;THEN TWO NON=-FILL BYTES
JSR RS XPSW :STORE EXPECTED PSW VALUE
.WORD 210
JSR PC.,GENR :SET UP GENERAL REGISTERS
SCC :SET ALL CONDITION CODES
CMPC :EXECUTE °*'CMPC’* INSTRUCTION
ggg PC6£§CC :CHECK PSW, GENERATE CONDITION CODES
ERROR 1 snnnnnnsnnnenenndTEST 2) = ERROR 1tttseenssnnnene
;PSW ERROR

;EXPECTED PSW IS STORED AT 'EXPPSW
sACTUAL PSW IS STORED AT '‘CCODES"’

648:
cMpP a#SAVR6,SP :VERIFY STACK POINTER 1S RESTORED
BEQ 653 JBR IF OK
MOV SP,a#BADRS :STORE BAD SP VALUE
ERROR 2 sennnnennannnanaTESY 21 = ERROR 2tttranenenannne
:STACK POINTER NOT RESTORED BY INSTRUCTION
;EXPECTED VALUE OF SP IS STORED AT *'SAVRG'’
65% ;ERRONEOUS VALUE IS AT °'BADRG
' IsT R ;CHECK RO=0
ERROR 3 cannasnnnnattattTEST 21 = ERROR Jrnennaseseenene

“SRC1 LENGTH ERROR
18: cMP SRCAD,R1 “CHECK R1 UNCHANGED
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001401
104004

022702
001401
104005

022703
001401
104006

026704
001401
104007

026705
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000002

016712

172416

172410

005770

006000
006022

016715
006026
005660

006034
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6 &

SEQ 0045

TEST *'CMPC'* WITH SOURCET LENGTH=0 & A NON-FILL CHARACTER IN SR(2
BEQ 28
ERROR 4 sennnanennnnnatsTEST 21 = ERROR 4eteeeeeneneneee
:SRC1 ADDRESS ERROR
2$: ggg g%.RZ : CHECK R2=
ERROR 5 sanenanannsesnesTEST 21 = ERROR Steventeeeseeees
:SRC2 LENGTH ERROR
1s: gns ngFZ*Z.RS :CHECK R3=BUF2+2
EEROR [ senannannnananssTEST 21 - ERROR Grenveecneneneee
" :SRC2 ADDRESS ERROR
CMP FILL,Ré ;CHECK R4 UNCHANGED
BEQ 66% ;8R IF OK
ERROR 7 sennnnannnennataTEST 21 = ERROR 7eevnnanaaneteee
*R& SHOULD STILL EQUAL CONTENTS OF LOCATION ‘¥ILL"
66%: cMP TABLE RS :CHECK RS UNCHANGED
8EQ 678 :BR IF 0K
ERROR 10 tt!tttt'tttttttTEST 21 = ERROR 10etenensnseneene
678 :RS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘TABLE'’

t'ttttttttttttl.t'.ti"ﬁt"tttt.ﬁt.’tt'tttttitttt.t.'.....'.'!t

tTEST 22 TEST "'CMPC'* WITH S1L .LT. S2L AND SRC1.GT.SRC2, NON-COMPARE IN SOURCE

ﬁttt*tttttttttttttt"tt'ttttt.tﬁﬂt.'tt.tﬁ't'iit..tt.ttttttttt.t

tTHlS TEST VERIFJES THAT '‘CMPC‘'* RETURNS THE CORRECT SUBSTRING IDENTIFIERS
**WHEN SOURCET STRING AND SOURCE2 STRING DO NOT COMPARE.

s«THE RESULT IS RO EQUALS SRC1 SUBSTRING LENGTH, R1 EQUALS

;*SRC1 SUBSTRING POINTER, R2 EQUALS SRC2 SUBSTRING LENGTH, R3 EQUALS
'SRCZ SUBSTRING POINTER, AND ALL CONDITION CODES CLEAR EXCEPT N=1.

ttttttttttttttt0Qtt'"tttﬁiﬁtﬁtQiitt.titttt.ti.ﬁt.t....tl..'!'t
ttt'tttttttttttﬁ'ttt'ttt'ttttttttttt.ttttiitti.t'tt'.tt!.'.tt'.

TSTZZ SCOPE
JSR

RS ,PREP :SET UP INSTRUCTION ARGUMENTS
7 SOURCE1 LENGTH
BUF1 SOURCE1 ADDRESS
12 SOURCEZ LENGTH
BUF 2 : SOURCE2 ADDRESS
377 FILL CHARACTER
JSR PC.CLDST CLEAR SOURCE2 AREA
JSR R5.,GENSRC GENERATE SOURCEZ2 STRING
LMWORD 12
LMWORD  BUF?2
CLRB SNBUF2+5 :CREATE A NON-COMPARE CHARACTER IN SRCZ2 STRING
JSSRD S?OXPSU STORE EXPECTED PSW VALUE
JSR PC,GENR :SET UP GENERAL REGISTERS
SCC SET ALL CONDITION CODES
CMPC sEXECUTE ‘‘CMPC'* INSTRUCTION
ggg PC6£§CC :CHECK PSW, GENERATE CONDITION CODES
ERROR 1 tttttttttttttttTEST 22 = ERROR 1strassnnsssnnnn

:PSW ERROR
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000676
000700

172274

172266

648:

65%:

668%:

67%:

2s:

3s:

48

5$:

6$:

H &
TEST *'CMPC'’ WITH S1L LT. S2L AND SRC1.GT.SRC2, NON-COMPARE IN SOURCE SEQ 0046

;EXPECTED PSW IS STORED AT “EXPFIW'"
:ACTUAL PSW IS STORED AT ‘‘CCODES'’

(W, @ YSAVR6,SP VERIFV STACK POINTER 1S RESTORED

BEQ 65% BR F OK

MOV SP,a#BADRG :STORE BAD SP VALUE

ERROR 2 ttttttttttt'tttTEST 22 = ERROR 2tetrtnntnnesntd
STACK POINTER NOT RESTORED BY INSTRUCTION
EXPECTED VALUE OF SP IS STORED AT '‘SAVR6''
ERRONEOUS VALUE IS AT 'BADRG’’

(0, FILL,RG :CHECK R4 UNCHANGED

B8EQ 66% .BR IF 0K

ERROR 3 sannnnnnnnncenaeTEST 22 = ERROR 3Jrtttevanensanes
R4 SHOULD STILL EQUAL CONTENTS OF LOCATION ‘FILL'

CMP TABLE ,RS CHECK RS UNCHANGED

BEQ 67% BR IF 0K

ERROR 'A ttt'tttttttttttffST 22 = ERROR 4ennecnnsnnnnany
RS SHOULD STILL EQUAL CONTENTS OF LOCATION '‘TABLE'®

CLR TEMP

MOV SRCAD R4
MOV DSTAD RS

;POINT R4 TO SOURCE1 ADDRESS
:POINT RS TO SOURCE2 ADDRESS

CMP8 (R4), (RS) COHPARE SOURCES
B8NE 3$ BR IF NOT EQUAL
INC TEMP
ggPB 5?4)*.(RS)+ :POINT STRINGS TO NEXT BYTES
:CHECK ADDRESS £ ' ENGTH DESCRIPTORS
CMP R4 ,R1 CHECK R1, SOURCE1 ADDRESS
BEQ '} 3 BR IF oK’
ERROR b ttttttttttttnttrESI 22 = ERROR Stntsnssrnsasnns

:SOURCE1 ADDRESS ERROR
:RG CONTAINS THE EXPECTED ADDRESS POINTER
:R1 CONTAINS THE BAD VALUE

cMP R5,R3 sCHECK R3,SOURCE2 ADDRESS
BEQ 5% :BR IF OK
ERROR 6 cannnannanenntedTEST 22 = ERROR (reavencenenenes

:SOURCE2 ADDRESS ERROR
;RS CC'TAINS THE EXPECTED ADDRESS POINTER
:R3 CONTAINS THE BAD VALUE

MOV SRCLN,R4 :CALCULATE LENGTH OF SRC1 REMAINDER

;) TEMP, R4

(W R&.RD ;CHECK RO. SOURCE? LENGTH
BEQ 68’ :BR IF
ERROR 7 ttt'ttttttttttthST 22 = ERROR 7rseeanannnntent

:SOURCE1 LENGTH ERROR
:R& CONTAINS THE EXPECTED LENGTH DESCRIPTOR

RO CONTAINS THE BAD VALUE
MoV DSTLN, R4 CALCULATE LENGTH OF SRCZ2 REMAINDER
su8 TEMP R4
MP R4 .R2 cuecx az SOURCE2 LENGTH
BEQ 78’ .BR IF
ERROR 10 tttttttttttttttTEST 22 = ERROR 10srssssnnnsnnnee

:SOURCE2 LENGTH ERROR
:R& CONTAINS THE EXPECTED LENGTH DESCRIPTOR

™



1 4
MAIN, MACY11_30(1046) ZZ-gAN-BZ 08:44 PAGE 48
CVKAIB.P11 22~JAN-82 08:4 T22 TEST '"CMPC'* WITH SIL .LT. S2L AND SRC1.GT.SRC2, NON=COMPARE [.s SOURCE SEQ 0047

2508 :R2 CONTAINS THE BAD VALUE

%g?g 006474 000240 78: NOP

251 :;tttttﬁttttt.tlltt.tttttttt'ttttttttttttttittttttttt.tt'ttt't'tl

251 :oTEST 23 TEST ''CMPC’* FOR S1.=S2L, SOURCE1=SOURCE2 STRINGS

251 ::tttttttttttttttttttttt!tttttttQttttttttttttttttttt!tttttttﬁtttt

2514 :*PROPER TERMINATION OF THIS INSTRUCTION TEST IS THE

2> 5 «INDICATION THAT SOURCE1 STRING EQUALS SOURCE2 STRING:

2516 :*RO & R2 EQUAL 26RO, R1 & R3 EQUAL THE ADDRESS+1 OF THE

2517 :«LSB OF THE SOURCE1 & SOURCEc STRINGS RESPECTIVELY,

2518 S«AND ALL CONDITION CODES CLEAR, EXLEPT Z=1

2519 T e e e e A L L A A LA A DL A A A A L AL bbb bl

2520 INENANARAAN R AR AR AT AN ERANAANRRAAAARANAAAERRAAENARACRANANNAS

2521 006476 (000004 TST23: SCOPE

2522 006500 004567 005544 JSR RS .PREP :SET UP INSTRUCTION ARGUMENTS

2523 006504 000007 7 ;SOURCE1 LENGTH

2524 006506 016310 BUF 1 :SOURCE1 ADDRESS

2525 006510 000007 7 :SOURCE2 LENGTH

2526 006512 016310 BUF1 ;SOURCE2 ADDRESS

2527 006514 000377 377 sFILL CHARACTER

2528 006516 004567 005622 JSR RS XPSW :STORE EXPECTED PSW VALUE

2529 006522 000204 WORD 204

2530 006524 004767 005454 JSR PC,GENR :SET UP GENERAL REGISTERS

2531 006530 000277 SC( JSET ALL COﬁD}]ION CODES, EXCEPT

2532 006532 000244 cLz ;" CLEAR ‘7"

2533 ;EXECUTE °‘'CMPC’* INSTRUCTION

2534 006534 076044 CMPC

2535 :CHECK RESULTS

2536 006536 004767 005626 JSR PC.CKCC ;CHECK PSW, GENERATE CONDITION CODES

2537 006542 001401 BEQ 648

2538 006546 104001 ERROR 1 sananannnnenetasTEST 23 = ERROR 1ansnsnsasnnnenn
2539 :PSW ERROR

2540 :EXPECTED PSW IS STORED AT "EXPPSW'’

2541 :ACTUAL PSW IS STORED AT °'‘CCODES'’

2542 006546 64$:

2543 006546 023706 000676 cMP @#SAVRG,SP :VERIFY STACK POINTER IS RESTORED

2544 006552 001403 BEQ 65% :BR JF 0K

2545 006554 010637 000700 MOV SP,a#BADRS ;STORE BAD SP VALUE

2546 006560 1040C2 ERROR 2 sennnnnnneannnanxJEST 23 - ERROR Z2rsntaasantnnnse
2547 :STACK POINTER NOT RESTORED 8Y INSTRUCTION
2548 :EXPECTED VALUE OF SP IS STORED AT '‘SAVRG'
2549 :ERRONEOUS VALUE IS AT "BADRS

2550 006562 658%:

2551 006562 105700 TST8 RO :CHECK RO

2552 706564 001401 BEQ 1$ :BR, IF ZERO

2553 006566 104003 ERROR 3 JrenninnssananeaJEST 23 = ERROR 3ttresesanannnane
2554 i :RD SHOULD BE 2ERO

2555 006570 195792 18: TST8 R2 s (ALK R?

2536 006572 001401 BEQ 23 :8R, If ZERC

2557 006574 1040064 ERROR &4 senanenasandtene’ 7 o3 -~ ERRNR Lreenarnsacaonnee
2558 :R2 SHALLD BE JEROD

2559 006576 016700 172044 2%: mov SRCAD RO :CALCULATE ADDRESS+1 OF LS8

2560 02 066700 172036 ADD SRCLN,RO

2561 020001 CMP RO,R? sCHECK R

2562 006610 001401 B8EQ 33 :BR, IF EQUAL TO ADDRESS+!1 OF LSB

2563 006612 104005 ERROR 5 seneensnansnnnsnTEST 3 « ERROR Sesnnnennnennnnn




JMAIN.

MeCY11_30(1046)

CVKAIB.P

006614
006616
006620

22-JAN-82 08:4

020003
001401
104006

026704
001401
164007

026705
001401
104010

172026

172020

005400

016710
177777

005444
005276

005450

000676
000700

22-JAN-82 08:44__PAGE 49
43 123

J &
TEST ''CMPC’* FOR S1L=S2L, SOURCE1=SOURCE2 STRINGS
:R1 SHOU%D EQUAL (SRCAD)+(SRCLN)

3%: CMP RO.R3 CHECK
BEQ 408 ‘BR, IF EQUAL TO ADDRESS+1 OF LS8
ERROR [ ttttttantttttttTESI 23 = ERROR Geetrnenennnsnens
“08 R3 SHOULD EQUAL (DSTAD)+(DSTLN)
B, FILL,R4 ;CHECK P UNCHANGED
BEQ 66$ BR IF 0K
ERROR 7 canannnnnenanavdTEST 23 = ERROR 7onesdnnaseentes

:RG SHOULD STILL EQUAL CONTENTS OF LOCATION °‘FILL"
66$: CMP TABLE RS ;CHECK RS UNCHANGED
BEQ 6’% :BR IF OK
ERROR 10 ttttttttttttﬁttTEST 23 = ERROR 10tenesasnensnnse
678 :RS SHOULD STILL EQUAL CONTENTS OF LOCATION ‘‘TABLE'*

tttttttttittttttttttttttttt.ttt.tt.tt"..tt!Qtt.'tlﬁt'..t't*tﬁt

-resr 24 TEST ''CMPC’* WITH SOURCE2=0 & SOURCE1 CONTAINS ALL FILLS
tttt'tﬁ..ttﬁ'ittti.tttttitittttittﬁt.ﬁ.ttIﬁt"tﬁitﬂttlﬁiﬂtﬁtﬁﬁ.
SXTHIS TEST VERIFIES THAT CMPC'’ COMPARES SOURCE! WITH THE FILL
*«CHARACTER WHEN SOURCE2 LENGTH IS 2ERO.

'RESULT IS EQUAL STINGS WHEN SOURCE1 IS ALL FILLS.

tttttttttttttltttttttt'tttttttttttt.ﬁttti't.!l.t't.'ﬁ.'ﬁ.t.t.ﬁ.
ittttttttttttittttlttttttttttttt..tﬁ..tt.tﬁ.t'tﬁ'tt'.t'..'ﬁ..tﬁ

TSTZ4 SCOPE

JSR R5,PREP sSET UP INSTRUCTION ARGUMENTS
4 :SOURCE1 LENGTH
BUF2 :SOURCE1 ADDRESS
0 : SOURCE2 LENGTH
NXM SOURCEZ ADDRESS
377 IiL CHARACTER
MOV #8U2, RO GENERATE SOURCE1 STRING WITH

MOV #7770 . (RO) SALL FILLS
MOV (RO)+, (RO)

JSSRD gBZXPSU ;STORE EXPECTED PSW VALUE
JSR PC,GENR :SET UP GENERAL REGISTERS
SCC ;SET ALL CONDITION CODES. EXCEPT
L2 ;CLEAR Z
CMPC ;EXECUTE ''CMPC’* INSTRUCTION
ggg PC62§CC ;CHECK PSW, GENERATE CONDITION CODES
ERROR 1 sannnnnannnssataTEST 24 « ERROR 1trensnentevnnee
:PSW_ERROR
:EXPECTED PSW IS STORED AT ‘EXPPSW'
648 :ACTUAL PSW IS STORED AT ‘‘CCODES'
. CMP S#SAVRG, SP sVERIFY STACK POINTER 1S RESTORED
8tQ 65% :BR IF OK
MOV SP,@/BADR6 ;STORE BAD SP VALUE

ERROR 2 ttttttttttttt:ttfst 26 = ERROR 2vresnnntntnnnny

SEQ 0048

™



-MAIN,

MACY11_30(1046)
22-JAN-82 0

CVKAIB.P11

007030
007032
007036

005700
001401
104003

016700
066700
020001
001401
104004

005702
001401
104005

016702
066702
020203

001401
104006

026704
001401
104007

026705
001401
104010

1674
1666

i
~N -~

- b
N~
b wal
oo~

171640

171632

000004
004567 005212
000004

22-JAN-82 08:44 PAGE 50
8:43 T24 TEST ''CMPC'* WITH SOURCE2=0 & SOURCE1 CONTAINS ALL FILLS

K 4
SEQ 0049
;STACK POINTER NOT RESTORED BY INSTRUCTION

;EXPECTED VALUE OF SP_IS STORED AT ‘'SAVR6'’
:ERRONEOUS VALUE 1S AT 'BADRG'

65%:
gg; ?g :CHECK RO=0
ERROR 3 tttttttttttatcntfsr 24 = ERROR 3Jtrrtesnnettnnenns
SOURCEI LENGTH ERROR
RO SHOULD BE ZERO
1$: MOV SRCAD RO CALCULATE ADDRESS OF LSB+1
ADD SRCLN,RO
cMp R0O.R1 :CHECK R1, SOURCE1 ADDRESS
BEQ 23 BR IF OK
ERROR & tttttttttttttttTEST 24 = ERROR 4ertrnnnasnnnnnnsn
SOURCE1 ADDRESS ERROR
RO CONTAINS THE EXPECTED ADDRESS POINTER
R1 CONTAINS THE BAD VALUE
2s: TST R2 CHECK R2=0
BEQ i3 BR IF 0K
ERROR 5 tttttttttttttttTEST 26 = ERROR Stansannnsnennen
SOURCEZ LENGTH ERROR
R2 SHOULD BE ZERO
3s: MOV DSTAD ,R2 :CALCULATE ADDRESS OF LSB+1
ADD DSTLN,R2
(MP R2,.R3 s CHECK R3 SOURCE2 ADDRESS
BEQ 43 .BR IF
ERROR 6 tttt